o 1
............................................................................................................................................................. 1
s R 1
N N PRSP 1
=0 Y L0 PSPPI 1
A LV 1
2 NN A PSP PORPPPRPPN 1
HRE D 1
£ L 1
BN U L L i et e e 1
............................................................................................................................................. 1
.................................................................................................................. 1
................................................................................................. 1
................................................................................. 1
L e 1!
............................................................................................................................................. 1
............................................................................................................................................................. 1
................................................................................................... 1
GETPIVOTDATA GETPIVOTDATA
......................................................... 2
L e e e e e e e e eeetee et eea e eeteeetieeteee et e e ataeaaaaaaaaa 2.
DATE NOW
....................................................................................................................................................................... 2.
DATEDIF 2.
DATEVALUE 2.
DAY 1 3L 2.
Y AN ST 0 PR 2.
EDATE
..................... 2
EOMONTH
EOMONTH 2
HOUR 0 ( 0o ) 23 ( 1 )
....................................................................................................................................................................... 2
MINUTE 0( ) 59( ) L 2!
MONTH 1() 2y 2!
NETWORKDAYS
...................................................................................................................................... 2!
NOW 2
SECOND 0( ) 59 ( ) SECONL
................................................................ 2
TIME 0 0.99999999
0:00:00 ( 0o ) 23:59:59 ( 11 59 59 ) 2
TIMEVALUE 0  0.99999999
0:00:00 ( 0o ) 23:59:59 ( 11 59 59 ) L 2
TODAY Excel
NOW 2
W EEK DAY e 2
WEEKNUM e 2
WORKDAY



[ 1 [ ] [ ] [ ] [ ]
........................................................................................................... 2!
...................................................................................................................................... 2!
................................................................................................................................... 3
YEAR 1900 ( ) 9999 ( ) .3l
YEARFRAC 2 ( ) 1
..................... 3
......................................................................................................................................... 3.
BESSELI In(x) Jn
.......................................................................................................................................................... 3
BESSELJ TN X)) et 3
BESSELK Kn(x) Jn Yi
......................................................................................................................................... 3.
BIN2DEC 2 B0 et 3
Y N D 1 PP PPTRPPN 3
BIN20OCT 2 B e 3
COMPLEX "X+yi" XEYT 3!
CONVERT
......................................................................................................................................... 3!
DEC2BIN 10 PP UPTP 3
D] = Oy o = TP UPTTPPTPPN 3
DEC20CT 10 PP 3l
DELTA 2 1= 2 1 0
DELTA
....... 3!
ERE 3!
ERFC X 4
GESTEP 1 0 ( )
GESTEP
........................................................................................................... 4
HEX2BIN 16 PSPPI 4.
HEX2DEC 16 L0 e 4
[ | = 02 @ L G PP PTPPP 4.
IMABS "X+yi" UXHY]T 4.
IMAGINARY "X+yi" XHYT 4.
IMARGUMENT ( )
................................................................................................................................... 4.
IMCONJUGATE "X+yi" "X+yitoo 4.
IMCOS "X+yi" XAV 4
IMDIV "X+yi" "X+yj" 2 4.
IMEXP "X+yi" UXHY]T 4
IMLN "X+yi" UXEYT s 4!
IMLOG10 "x+yi" "X+yj" 10 ( )
............................................................................................................................................................. 4!
IMLOG2 "X+yi" "X+yj" 2 4!
IMPOWER "X+yi" XHY]T 4
IMPRODUCT "X+yi" "X+yj" 2 2 4
IMREAL 'X+yi X+yj" o 4
IMSIN "X+yi" XHYT 4
IMSQRT "X+yi" XAV 4
IMSUB "X+yi" "X+yj" 2 4
OCT2BIN 8 2 e 4



OCT2DEC 8 L0 4!

OCT2HEX 8 LB e 4
................................................................................................................................................ 4
CELL 5
COUNTBLANK 5
ERROR.TYPE Excel ERROR.TYPE
ERROR.TYPE
............................... 5:
1 5.
IS Excel 9
....................................................................................................................................................................... 5.
N e e e e ee et eeeeeeeeeeeetaeeeteeeeteieeteeeataeaetareetaeeraans 5.
NA #N/A #N/A " " NA
#N/A
( #N/£
#N/A ) 5!
PHONET I e 5!
TYPE
TYPE e 5
................................................................................................................................................ 5
AND TRUE TRUE 1 FALSE
e 1S PPN 5
FALSE FALSE e 5
IF TRUE ( ) FALSE( ) L 5
NOT TRUE FALSE FALSE TRUE
................................................................................................. 5i
OR TRUE TRUE FALSE FALSE
....................................................................................................................................................... 5i
TRUE TRUE e e e 5!
L e e e e e eeeteeeteeeeaeeeteeeeteeeteeetee et e ettt e et e e et aeataeeaaans 5!
ADDRESS ( ) ADDRESS
....................................................................................... 6!
AREAS 1
............................................................................................................................................................. 6!
CHOOSE 1 CHOOSE
29 1
1 7 1 1 7
.................................................................................................................. 6.
COLUMN 6.
COLUMNS 6:
HLOOKUP
HLOOKUP
VLOOKUF
............................................................................................................................... 6.
HYPERLINK
................................................. 6.
N0 PP 6
AT 1 =L A PP 6
LOOKUP 1 1 LOOKUP
2P 6!

MATCH



/ MATCH I
OFFSET

( )
............................................... 7.
ROW 7.
ROV S et 7.
TRANSPOSE TRANSPOSE
TRANSPOSE
LINEST
............................................................................................................................................................. 7.
y TRANSPOSE
LINEST y
....................................................................................................................................................................... 7.
VLOOKUP
VLOOKUP
HLOOKUP
....................................................................................................................................................... 7.
ST UPPT PPN 7
ABS (+ =) 7!
ACOS
0( ) m ( ) 7!
ACOSH ( ) 1
( )
ACOSH(COSH( ) T e 71
ASIN
-T2 T 2 71
ASINH ( )
( ) ASINH(SINH( ) =
.......................................................................................................................................................... 71
ATAN
-T2 TU/2 71
ATAN2 X-y X 0
X y -t T ( -
......................................................................................................................... 7
ATANH ( ) -1
1 ( )
ATANH(TANH( )) = 7
CEILING 0 442
1 =CEILING(442,10)
PP TP UPRPPR 7
COMBIN COMBIN
..................... 7
GO S e 7
COSH ( ) 7!
COUNTIF e, 7!
DE G REES e 7!
EVEN 7!
EXP e e e = 2.71828182845904
....................................................................................................................................................................... 8l
FACT 1 8l
F A CT DOUBLE e 8l



FLOOR
GCD

INT
LCM

LN

LOG

LOG10 10
MDETERM
MINVERSE
MMULT 2

MOD
MROUND
MULTINOMIAL

ODD

Pl L
POWER
PRODUCT
QUOTIENT
RADIANS
RANDBETWEEN

ROMAN
ROUND
ROUNDDOWN
ROUNDUP
SERIESSUM
SIGN

SIN

SINH

SQRT

SQRTPI (
SUBTOTAL

SUM
SUMIF
SUMPRODUCT
SUMSQ
SUMX2MY2 2
SUMX2PY2 2
SUMXMY2 2
TAN

TANH

TRUNC

............................................................................................................................. 8!

3.14159265358979 5 L 8l



AVEDEV AVEDEV
................................................................................................. 9
AVERAGE ( ) s o
AVERAGEA ) TRUE
FALSE e, e
BETADIST B B
1
...................................................................................................................................... 9
BETAINV B = BETADIST(X,...)
BETAINV( ) =X B
................................................................ 9
BINOMDIST
........................................................................................................................................... 10(
CHIDIST 2 X 2) X 2 X 2 X 2
................................................................................................. 10:
CHIINV 2 X 2) = CHIDIST(x,...) CHIINV(
o) =X X 2
........................................................................................................................................................ 10:
CHITEST 2 X 2 CHITEST X 2
X 2
............................................................................................................................................................... 10:
CONFIDENCE
................................................................................................. 10:
CORREL 2 2
............................. 10:
COUNT
....................................................................................................................... 10
COUNTA
..................................................................................................................................................... 10
COVAR
2
......................................................................................... 10!
CRITBINOM
..................................................................................................................................................... 10!
DEVSQ 10
EXPONDIST
EXPONDIST 1
................................................................................................. 10
FDIST F 2
............................................................................... 10
FINV F = FDIST(x,...) FINV( ) =X
....................................................................................................................................... 10
FISHER X
FISHER 10t



FISHERINV

y = FISHER(X) FISHERINV(y)=x 10i
FORECAST X y
X y (v)
............................................................................... 10i
FREQUENCY
......................................................................................................... 10!
FTEST F 1 2
FTEST
.............................................................. 11
GAMMADIST
.................................................... 11
GAMMAINV = GAMMADIST(x,...)
GAMMAINV( ) T X X e 11
GAMMALN GUX) 11
GEOMEAN GEOMEAN
............................................. 11
GROWTH Yy X
X y GROWTH y
< 11
HARMEAN 1 ( )
........................................................................................................................................... 11
HYPGEOMDIST HYPGEOMDIST
HYPGEOMDIST
2
......................................................................................... 11
INTERCEPT y X
y y oC )
INTERCEPT 0
........................................................................................................................................................... 11!
KURT
.11
LARGE 1 LARGE
LARGE
2 B 1L
LINEST
y LINEST
...................................................................... 11
LOGEST
LOGEST
....................................................................................................................................... 12
LOGINV X In(x)
p = LOGNORMDIST(x,...) LOGINV(P,...) =X e 12
LOGNORMDIST
........................................................................................................................................... 12
M A X e 12:
MAXA TRUE FALSE
.......................................................................................................................... 12
MEDIAN ( )



Y 1 12
MINA TRUE FALSE
........................................................................................................................ 12!
MODE ( )
MODE MEDIAN 12!
NEGBINOMDIST NEGBINOMDIST
BINOMDIST
........................................................................................................................................................ 12!
............... 121
NORMDIST
......................................................................................................... 12
NORMINV e, 12
PEARSON r r -1.0 1.0 2
................................................................................................................... 12
POISSON
1
................................................................................................................................. 12
PROB X X
.................................................................................. 12
QUARTILE
QUARTILE
2500 12!
RANK 12!
RSQ y r2 PEARSON
r2 X Yy
........................................................................................................................................................ 13
SKEW
................................................................................................................... 131
SLOPE y X 2
.......................................... 13
SMALL 1 SMALL
................................................................. 13
STANDARDIZE 13
STDEV
................................... 13
TDIST t
L 13
TINV L 13
TREND y X ( )
X /2P TP UPTPPPR 13
TRIMMEAN
TRIMMEAN 13
TTEST TTEST 2
................................ 13!
VAR 13!
VARA TRUE FALSE
..................................................................................................................................................... 13i
VARP 131



VARPA TRUE FALSE

....................................................................................................................... 13
WEIBULL
........................................................................................................................................... 13
ZTEST z P z X
...................................................................................................... 13t
.................................................................................................................................... 13i
ASC 13
CHAR ASCII JIS
CHAR
................................................................................................................................................. 13
CLEAN CLEAN
CLEAN
..................................................................................................................................................................... 141
CODE ASCII JIS
................................................................. 141
CONCATENATE L 141
DOLLAR 141
EXACT 2 TRUE FALSE
EXACT EXACT
................................................. 14
FIND/FINDB ( ) ( )
........................................................................... 14.
FIXED () G 14.
JIS 14.
LEFT/LEFTB ( ) 14.
LEN/LENDB 14
LOWER 14
MID/MIDB 14
PROPER 2
................................................................................................................... 14!
REPLACE/REPLACEB 14!
REPT
....................................................................................................................................... 141
RIGHT/RIGHTB ( ) 141
SEARCH/SEARCHB
SEARCH/SEARCHB
MID REPLACE 14
SUBSTITUTE
RE P L A CE s 14
PP TRPPR 14
I8 =+ G 14
TRIM 1
TRIM
................................................................................................................ 14
UPPER e 14
NV ALUE 15
YEN e 15(



Excel

SUM

Enter

Excel

HHHH

#VALUE!

#VALUE!

TRUE

=A5+A6

#VALUE!

Excel

Shift Excel
[ [ ] [
Vi
[ ] [ ] [ ]
FALSE
A5 A6 "Not available"
#VALUE! 2
=SUM(A5:AB)
Enter
F2 Ctrl Shift

1(



#DIV/0!

#DIV/O0!

#N/A

#NAME?

#NAME?

#N/A

#N/A

o(C )
#DI1V/0! #N/A
=5/0 (0)
#DIV/0!
Excel
[ ] [ ]
[ ]
[ ] [
[OK]
("
("
B50 ="The total amount is "&B50
)
SUM(A1:C10) ()
#N/A

"The total amount i

#N/A



HLOOKUP LOOKUP MATCH VLOOKUP
VLOOKUP HLOOKUP
HLOOKUP
" " FALSE
10 (A1:A10)
(A1:A15 )
#N/A
#REF!
#REF!
#REF!
#REF!
"system"
Exchange)
DDE
#NUM!

VLOOKUP
15 (C1:C15)
C11:C15 "#N/A"
(C1:C10 )
( )
1

DDE (Dynamic Dat:

1



#NUM!

IRR RATE
Excel
#NULL!
#NULL!
2
C1:C10
+ ( )
-( )
*( )
/( )
% ( )
~( )
2
= )
> ( )
<( )
>= )
<= )

3+3
3-1

1

3*3

3/3

20%

372 (3*3 )

TRUE

Al=B1
Al>B1
Al<B1
Al>=B1
Al<=B1

FALSE

()

(SUM(A1:A10,C1:C10))

ALl:AL(



<> (

Al<>B1
"&" 1
& ( )
2
"North" & "wind" "Northwind"
( )
2
1
B5:B15
( )
SUM(B5:B15,D5:D15)
( 1 )
2

SUM(B5:B15 A7:D7)

SUM

TRUE FALSE

(:

EE BTN TS E RS
bk

|31
=5UM{A10,B5:610,50,37)

SR T TRENET
Rlg o TEAET

)

B7

PMT

()

#N/A



#VALUE!

AVERAGE 50
IF TRUE FALSE

|:r7\|~l_maﬂ
_IF(AVERAGE(F2:F5)>50, SUM(GZ:G5).0)

7 A B
2 B C C 3
B
A A A
( E )
ST BEFTah T SRR
BAZNET, BIOEFERT S
213 FreFmEES ) w2 E T, =g um Ty 3E
T sum [+ 1% /| =] =IF(SUM{K10:K19)>=5000,10% 5%)
SUM
£ |K10:|<1~3 |={52,-25,-?3,-125,-50,-21
B | |=
BB EELE T, e TR
Nl BUIE $iER,. SEHERLL EHEE 1 15 a0 (B THRETFET.
DR 0.5 [ ox || s |
| st
( )
/
1,00(
2,500
D D

1t



DAVERAGE

DCOUNT

DCOUNTA

DGET 1
DMAX

DMIN

DPRODUCT

DSTDEV

DSTDEVP

DSUM
DVAR

DVARP

GETPIVOTDATA

Excel ( )

3

(Database ,
Database
= Excel
et Database
& [
1] 1] 2
Criteria
Criteria

, Criteria)

(

Database

12
Database

@)

Criteria

Criteri

1¢



Al1:F2

"Criteria"
& 1 Criteria
s G1:G2 G1 G2 10,000
" " Criteria
& Criteria
[ 1 [ 1
&5
¥t ¢! )
1
A5:E11 Database Al:F3 Criteria
A B | ¢ D | E N |
| =A &S B HEEY FiE #@S
2 |WAC >25 <4
3 |7aL
_4 | .
5 BA1 &S B HEEY Fim
6 |WAC 45 20 14 ¥10500
7 |7l 3 12 10 ¥9600
8 Ef<=5x§u[§ 3.25 14 9 ¥10530
g [LAC 35 15 10 ¥7500
10 |7dlL | 205 8 & ¥TH80
11 |WAC 0 g 6 ¥4500
2.5 4
DCOUNT (Database, " " AL:F2) = 1
2.5 4
DCOUNTA(Database," ",Al:F2) = 1
DMAX(Database," ",A1:A3) = 10500
2.5
DMIN(Database, " ",A1:B2) = 7500



DSUM(Database, " ",A1:A2) = 22500

2.5 4
DSUM(Database, " ",A1:F2) = 7500
2.5 4
DPRODUCT(Database, " ",A1:F2) = 10
2.5
DAVERAGE (Database, " ",A1:B2) = 12
DAVERAGE (Database,3,Database) = 13
DSTDEV(Database," ",Al:A3) = 2.97
DSTDEVP(Database," ",AL:A3) = 2.65
DVAR(Database," ",A1:A3) = 8.8
DVARP(Database, " ",A1:A3) = 7.04
DGET(Database,™ ",Criteria)
1
3
3
| R5eE
| EiE
Efigva
I

#NUM!

150,00

1¢



150,000

5 RSE S
E—IL Sl >1 50000
1 [ 1
&5 BEE =
E—IL _
SIi
1 50000
"150 000
i B51=] =ra
SitE >1 50000
v 1 50000

E5:E14
=E3>AVERAGECFEFSEES! 4
( ")
¢ 5

"HNAME?'  "#VALUET™

G)

G5

150,000

1¢



GETPIVOTDATA GETPIVOTDATA
GETPIVOTDATA( , )
GETPIVOTDATA
#VALUE!
#REF!
a B 5 | o | E
2 | Hud EE |-
3
4 |HirsEb& moH
5 |H == ] BEN fist
RER: R ¥352,200] ¥1.020.100] ¥1.372.300
7 IES ¥a72 500 ¥708.000| ¥1.661.400
T EEE ¥1,224 700] ¥1.809,000| ¥3,033.700
&+ A i ¥BE0.400] w728.500( ¥1.285.000
10 kS ¥B46.100]  ¥AE.800| ¥A12.000
RCE: ¥1,106,600]  ¥793.300( ¥1.898.800
12 |fEaT ¥2,330,200] ¥2 602.300| ¥4,932 500
A2:E12 "PT1"
GETPIVOTDATA(PT1," ") = ¥4,932,500 (" " )
GETPIVOTDATA(PT1,"3 ™) = ¥3,033,700 (3 )
1

GETPIVOTDATA(A4,"3

") = ¥1,020,100

2



GETPIVOTDATA(A4,"3 ") = #REF! (" " #REF!

GETPIVOTDATA(A4," ") = #REF! ( " " " "
#REF! ).

TODAY

DATE
DATEDIF

DATEVALUE

DAY

DAYS360 1 360 (30 x 12) 2
EDATE

EOMONTH

HOUR

MINUTE

MONTH

NETWORKDAYS 2

NOW

SECOND

TIME

TIMEVALUE

TODAY

WEEKDAY

WEEKNUM

YEAR

YEARFRAC 2

DATE NOW

DATE(C , s )

1900 9999 (Windows Excel) 1904 9999 (Macintosh Excel)

1 12 12 1
DATE(92,14,2) 1993 2 2

1 DATE(93,1,35) 1993



1994 1 1

1900 (Windows Excel )
DATE(94, 1, 1) = 34335
DATEDIF

DATEDIF( , , )
y
e
npn
"MD" 1
)
"y

"93/1/30" "1-30-93"

DATEDIF(''92/1/1","94/1/1","Y"") = 2
DATEDIF(*'93/6/1","94/6/15","YD"™) = 14
DATEDIF("'93/3/1","98/8/4" ,"MD™) = 3
DATEVALUE

DATEVALUE( )

Excel
Excel )
1904
1904 1 1 9999 12 31
#VALUE!

1900 (Windows Excel )

DATEVALUE("'S30.08.22") = 20323

1900

1

1

9999
(Macintosh

1900
12
Excel

31

(Window:

2:



DATEVALUE(*'1955/8/22™) = 20323

1994

DATEVALUE(*"7/5™) = 34520
DAY 1 31

DAY ( )

Excel
"93/4/15" " 5 4 15 "
NOW
DAY("4-Jan") = 4
DAY(" 5 4 15 ") =15
DAY('"93/8/11™) = 11
DAYS360
1 360 (30 x 12) 2
1 30 x 12
DAYS360( . . )
, 2 "93/1/30" "93-1-30"
NASD

FALSE/

NASD 31 30

31 30 1

29 2 30
TRUE
31 30
NASD compliant (National Association of Securities Dealers)
30 31
1 2 28 29 2
1 365 366 2

"93/12/31"-""93/1/1" = 364

DAYS360(*'1/30/93", "2/1/93") =1



D10 1/30/93 D11 2/1/93
DAYS360(D10, D11) = 1

EDATE

EDATE( . )

#NUM!

1900 (Windows Excel )
EDATE(DATEVALUE(''93/01/15™),1) = 34015 = 93/02/15
EDATE(DATEVALUE(""93/03/31"),-1) = 34028 = 93/02/28

EOMONTH
EOMONTH
EOMONTH( s )
#NUMI
#NUM!
1900 (Windows Excel )

EOMONTH(DATEVALUE(*'93/01/01™),1) = 34028 (2/28/93)
EOMONTH(DATEVALUE(*'93/01/01"),-1) = 33969 (12/31/92)
HOUR 0 ( 0

HOUR( )

Excel

23 (

11

2¢



"16:48:00" "4:48:00 PM"

HOUR(0.7) = 16
HOUR(29747.7) = 16
HOUR("3:30:30 PM") = 15
MINUTE

MINUTE( )

Excel
"16:48:00" "4:48:00 PM"

MINUTE("'4:48:00 PM") = 48
MINUTE(0.01) = 14
MINUTE(4.02) = 28

MONTH

MONTH( )

"1993 4 15 " Y 5 4 15 "

MONTH("'6-May™) = 5
MONTH(366) = 12
MONTH(367) = 1

NETWORKDAYS

NETWORKDAYS( , , )

#NUM!

NOW

0 (

1(

)

)

59 ()

NOW

12 ()

NOW

2t



NETWORKDAYS(DATEVALUE(*'10/01/91™) , DATEVALUE(*'12/01/91"),
DATEVALUE("'11/28/91")) = 43

NOW
NOW()
Windows Excel 97 Macintosh Excel 97 Windows
Excel 1900 1900 1 1 9999 12 31
Macintosh Excel 1904 1904
1 9999 12 31 Excel
( ) ( ) 1900 367.!
1901 1 1 Macintosh Excel 367.
1905 1 2
[ 1 ( 1-L D I
1 [1904 ]
Excel
Macintosh Excel Windows Excel [1904 1
NOW
1900 1994 1 1 12 30
NOW() = 34335.52083
10
NOW() = 34335.52778
1904 1994 1 1 12 30
NOW() = 32873.52083
10
NOW() = 32873.52778
SECOND 0 () 59 () SECONIL

2t



SECOND( )

Excel

"16:48:23" "4:48:47 PM"

SECOND("4:48:18 PM") = 18
SECOND(0.01) = 24
SECOND(4.02) = 48

TIME

0:00:00 ( 0o ) 23:59:59 (

TIMEC , , )

0 23
0 59
0 59

™

TIME(16,48,10) = 0.700115741 ( 4 48 10

TEXT(TIME(23,18,14),"h:mm:ss AM/PM™) = "11:18:14 PM"

11

TIMEVALUE
0:00:00 ( 0o ) 23:59:59 ( 11
TIMEVALUE( )
Excel
TIMEVALUE("'2:24 AM™) = 0.1
TIMEVALUE("'22-Aug-55 6:35 AM™) = 0.274305556
TODAY
NOW
TODAY()
WEEKDAY
WEEKDAY ( , )
Excel
"'93/4/15" 5 4 15 "

59

NOW
0 0.99999999
59 )
TIME(12,0,0) = 0.5 ( )
0 0.99999999
59 )
Excel
NOW



1/ 1( ) 7 ( ) Excel
2 1C ) 7C )

3 oC ) 6C )

TEXT

TEXT(''94/4/16","dddd") = "Saturday"

WEEKDAY("'94/2/14™) = 2 ( )
WEEKDAY ("'94/2/14",2) = 1 ( )
1900 (Windows Excel )
WEEKDAY (29747.007) = 4 ( )
1904 (Macintosh Excel )
WEEKDAY (29747.007) = 3 ( )
WEEKNUM
WEEKNUM( , )
Excel
"93/4/15" ¢ 5 4 15
NOW
1 1
1/ 1 7
2 7

1994 1 9 ()
1900 (Windows Excel )
WEEKNUM(*'1/9/94",1) = 3
WEEKNUM("'1/9/94",2) = 2

2¢



WORKDAY

WORKDAY ( , , )

#NUMI
#NUM!

1900 (Windows Excel )
WORKDAY (DATEVALUE("'93/01/03"),5) = 33977 (93/01/08)

1993 1 7 1 8
WORKDAY (DATEVALUE("'93/01/03"),5,{33976,33977}) = 33981 (93/1/12)

1904 (Macintosh Excel )
WORKDAY (DATEVALUE("'93/01/03"),5) = 32515 (93/01/08)

1993 1 7 1 8
WORKDAY (DATEVALUE(*'93/01/03") ,5,{32514,32515}) = 32519 (93/1/12)

[ 1
Excel 97 1900 1904 2
Windows Excel 97 1900 1904
[ 1 L 1 [ ] [1904
1900 1900 1 1 9999 12 31
( 1) ( 2958525)

2



1904 1904 1 2 9999 12 31
( 1) ( 2957063)
Excel 97 2
00 29 2000 2029
2019 5 28
30 99 1930 1999
1991 5 28
1 1 1
qdb
G)
&)
4 10 20 30 40
1x 4 1 x 4
10 20 30 40 50 60 70
{10,20,30,40;50,60,70,80}
YEAR 1900 ( ) 9999 ()
YEAR( )
Excel
"93/4/15" 5 4 15 ™
NOW
YEAR("'93/7/5") = 1993
1900 (Windows Excel )
YEAR(0.007) = 1900
YEAR(29747.007) = 1981
1904 (Macintosh Excel )
YEAR(0.007) = 1904
YEAR(29747.007) = 1985
YEARFRAC 2 ( ) 1
YEARFRAC( , , )

80

5/28/19

5/28/91

{10,20,30,40

2 %

4

3(



1
0/ 30
1
2
3
4 30
<0

/1

/360

/
/360
/365

/360

(NASD )

YEARFRAC(*'01/01/93", "06/30/93",0) = 0.49722
YEARFRAC('01/01/93", "07/01/93",3) = 0.49589

10

BESSELI
BESSELJ
BESSELK
BESSELY
BIN2DEC
BIN2HEX
BIN20CT
COMPLEX
CONVERT
DEC2BIN
DEC2HEX
DEC20CT
DELTA
ERF
ERFC
GESTEP
HEX2BIN
HEX2DEC
HEX20CT
IMABS
IMAGINARY

16

10
10
10

16
16
16

#NUMI
#NUM!
2
In(x)
Jn(x)
Kn(x)
Yn(x)
10
16
8
"xayi” "x+yj"
2
16
8
2
10
8



IMARGUMENT 0 (

IMCONJUGATE

1MCOS

IMDIV 2

IMEXP

IMLN

IMLOG10 10 (
IMLOG2 2

IMPOWER

IMPRODUCT 2 29

IMREAL
IMSIN
IMSQRT
IMSUB
IMSUM
OCT2BIN
0CT2DEC
OCT2HEX

29

10
16

QO 00 0 N N
N

BESSELI In(x)

BESSELI(x, n)

X #VALUE!
#VALUE!
n #NUMI

BESSELI(1.5, 1) = 0.981666

BESSELJ In(x)

BESSELJ(X, n)

X #VALUE!
#VALUE!
n #NUMI

Jn

3:



_ w (_1}3 [E]}sz
J”(x)_,;.z_u“ﬁ:!l"(m+k+1} 2
T

[(n+k+1)= [z dx
0

[FH v EEERLET,

BESSELJ(1.9, 2) = 0.329926
BESSELK Kn(x)

BESSELK(x, n)

X
n n
X #VALUE!
#VALUE!
n #NUM!
X n
E (x)=27 izl ix)]
M 2 M M
Jn Yn BESSELJ BESSELY
BESSELK(1.5, 1) = 0.277388
BIN2DEC 2 10
BIN2DEC( )
2 10 (10
9 2
2 10 (10 )

BIN2DEC(1100100) = 100
BIN2DEC(1111111111) = -1

H#NUM!

Jn

Yn



BIN2HEX

2 16

BIN2HEX( )

16

@)
BIN2HEX(11111011, 4) = "O0OFB"
BIN2HEX(1110) = "E"
BIN2HEX(1111111111) = “FFFFFFFFFF"

BIN2OCT 2 8

BIN2OCT(  , )

@)
BIN20CT(1001, 3) = "011"
BIN20CT(01100100) = "144"
BIN20CT(1111111111) = “7777777777"

(10

#NUMI

(10

#NUMI

10

#VALUE!

10

#VALUE!

10 (10 )
2
oC )
16
#NUMI
10 (10 )
2

oC )

8

#NUMI

#NUM!

#NUMT

3¢



COMPLEX

COMPLEX(

"

COMPLEX(3,4) = 3+4i
COMPLEX(3,4,"j") = 3+4j
COMPLEX(0,1) = i
COMPLEX(1,0) = 1

CONVERT
CONVERT(
C )

U ( )
C )

"Xy "Xy
. )
llill g
" i "
#VALUE!
#VALUE!
#VALUE!
7 )
/
g
"sg
"lbm"
e
“ozm"
/
g
Ilm i 1]
“Nmi"

" i nn

#VALUE!

nlv

3t



i
el
ang
@ ) “Pica”

Yt
"day"
"hr"

mn

sec

“pa
"atm"
Hg "'mmHg"

e
"dyn
"1bf"

"y

e
) "e”
( )
oy
"HPh"
wWhe
"flb"
BTU ( ) "BTU"

~

"Hp"
e

np
"ga

ne

nge

cal

3¢



"sp”
"tbs"
"oz
“eup”
"ot

gt
"gal™
oy

10

exa 1E+18  "E"
peta 1E+15  "P"
tera 1E+12 T
giga 1E+09  "G"
mega 1E+06  "M"
kilo 1E+03  "k™

hecto 1E+02 "h"
dekao 1E+01 e"
deci 1E-01 d
centi 1E-02 "c"
milli 1E-03 m*
micro 1E-06 u"
nano 1E-09 ‘n"

pico 1E-12  "p"
femto 1E-15  "f"
atto 1E-18 "a"

#VALUE!
#N/A
10 #N/A
#N/A
CONVERT(L.0,"lbm","kg") = 0.453592
CONVERT(68,"F","C"™) = 20
CONVERT(2.5,"Ft","sec”) = #N/A
DEC2BIN 10 2
DEC2BIN( )
10
2 9

10

(10



oC )
< -512 > 511 ANUMTY
#VALUE!
#NUMI
#VALUE!
#NUMI
@)
DEC2BIN(9, 4) = "1001"
DEC2BIN(-100) = "1110011100"
DEC2HEX
10 16
DEC2HEX( )
10 10
16 16 39
2
16 « )
oC )
< -549,755,813,888 > 549,755,813,887 ANUMT
#VALUE!
#NUM!
#VALUE!
#NUMI
@)
DEC2HEX(100, 4) = "0064"
DEC2HEX(-54) = "FFFFFFFFCA"
DEC20CT 10 8
DEC20CT( )
10 10

(40

@30

3¢



8 C )
oC )
< -536,870,912 > 536,870,911 #NUM?
#VALUE!
#NUM!
#VALUE!
#NUM!
@)
DEC20CT(58, 3) = "072"
DEC20CT(-100) = "7777777634"
DELTA 2 1= 2 1 0
DELTA
DELTA( 1, 2)
1
2 2 0
1 #VALUE!
2 #VALUE!
DELTA(5, 4) = 0
DELTA(5, 5) = 1
DELTA(0.5, 0) = 0
ERF
[ 1 [

ERF( , )

#VALUE!

3¢



ERF

ERFiz)= i

-
e

#NUM!

b
ERF(a,b)= %J'e'f’dz = ERF(&)-ERF(a)
o =

ERF(0.74500) = 0.707929
ERF(1) = 0.842701

ERFC X

ERFC(X)

X
X
ERFC

ERFC(x)= *dt =1-EEF(x)

2 %
7
ERFC(1) = 0.1573

GESTEP

GESTEP( )

#VALUE!
#NUMI
#VALUE!
#NUM!
0 (
GESTEP
#VALUE!

A



GESTEP(5, 4) = 1
GESTEP(5, 5) = 1
GESTEP(-4, -5) = 1
GESTEP(-1, 0) = 0

HEX2BIN 16 2

HEX2BIN( )

16
( 40 )
2
2 C )
0 (
10 2
FFFFFFFEQ0
16 #NUMI
#NUM!
#VALUE!
#NUMI
@)
HEX2BIN('F", 8) = "00001111"
HEX2BIN("B7") = "10110111"
HEX2BIN('FFEFFEFFFF") = "1111111111"
HEX2DEC 16 10
HEX2DEC( )
16
39
16 #NUMY

HEX2DEC("'A5™) = 165

10

10

1FF

(10

(40



HEX2DEC("'FFFFFFFF5B™) = -165
HEX2DEC(''3DA408B9") = 1034160313

HEX20CT
16 8
HEX20CT( )

16

FFEO000000

16

@)
HEX20CT("F", 3) = "017"
HEX20CT("'3B4E™) = "35516"
HEX20CT ("FFFFFFFF00™) = "7777777400"
IMABS "X+yi" "X+yj"

IMABS( )

COMPLEX
"Xy i

DMABS(z) = |z| = 7% + »°

Z = x+yi

IMABS("5+12i") = 13

#NUM!

39

10

#NUMI

#VALUE!

0 (

#NUM!

#NUM!

10 (40

1FFFFFFF

4;



IMAGINARY "X+yi" "X+yj"

IMAG INARY ( )

COMPLEX

"Xy i

IMAGINARY("3+4i™) = 4
IMAGINARY("0-j") = -1
IMAGINARY(4) = 0

IMARGUMENT (
IMARGUMENT ( )
Xy X+yjt
COMPLEX
Xy "x+yj" #NUM!
IMARGUMENT
EMQGUNENT&)=mﬂ{£]=§
x
T
Fel-mn)
Z = X+yi
IMARGUMENT (*'3+4i") = 0.927295
IMCONJUGATE "X+yi" "X+yj"
IMCONJUGATE( )
COMPLEX
Xyt "x+yj" #NUM!

IMCONJUGATE("3+4i") = 3-4i

#NUM!



IMCOS "Xy "X+yj"

INCOS( )

COMPLEX
#VALUE!
"y ek ANUMY

cos(x +3i) = cos{x)cosh (¥) —sin (x)sinh (y)i
IMCOS(*"1+1"™) = 0.83373-0.988898I
IMDIV Ay "Xy 2

INDIV( 1, 2)

1

2
COMPLEX

1 2 Uxyi v "Xy
2

(a+bi)  (ac+dd)+(be-ad)i

DIV = =

(Z1022) = (v i) &t +d
IMDIV('"-238+2401","10+24i") = 5+12i
IMEXP "X+yi" "X+yj"

IMEXP( )
COMPLEX

Xy x+yy” #NUM!

DMEXP(z) = " = g% ¥ = o¥(cos y +isin y)

IMEXP("1+i") = 1.468694+2.287355i

#NUMI

4



IMLN "X+yi" "X+yj"

IMLN( )

COMPLEX
Xy "X+yj

hﬂx+y}=bﬂx2+yz+ﬁm4[£]
x

T
Fel-ma)

IMLNC*3+4i") = 1.609438+0.9272951

IMLOG10 "Xy "X+yj"
IMLOG10( )
COMPLEX
"xHyi” XY

logyy (x+ y1) = (logyg e)In{x + 1)

IMLOG10("'3+4i") = 0.69897+0.402719i
IMLOG2 "Xy "X+yj"

IMLOG2( )

COMPLEX
"y xHyj”
2

logy(x+ 1) = (logy e)ln(x + 1)

IMLOG2(*"3+4i™) = 2.321928+1.337804i

10

#NUM!

#NUM!

#NUM!

4t



IMPOWER "X+ "X+

IMPOWER ( ) )

COMPLEX
XAy UX+yj
#VALUE!

=T ooz tirTanns

(x+yi)" =re
G
e ‘.'xz + yz

o

&= tan'{i]
x

e
Fel-mr)

IMPOWER("2+3i",3) = -46+9i

IMPRODUCT "X+yi" "y
IMPRODUCT ( 1, 2,...)
1, 2,...
COMPLEX
Xyt A B
2

{atb)ctd)={ac-bd)+{ad+ b

IMPRODUCT ("*3+41","5-31") = 27+11i
IMPRODUCT(**1+2i",30) = 30+60i

IMREAL "X+yi "X+

IMREAL( )

29

29

H#NUM!

#NUM!

4



COMPLEX

"y "x+yj "
IMREAL('6-91"") = 6
IMSIN "X+yi" "X+yj"
IMSIN( )
COMPLEX
"Xy “x+yj"

sin [x + i) =sin {x)cosh (¥) - cos{x)smnh (y)i

IMSIN("3+4i") = 3.853738-27.016813i

IMSQRT "X+yi" "X+yj"

IMSQRT( )

COMPLEX
"Xy i

#VALUE!

#NUM!

#NUM!

#NUMI



& &
1.":{ +i = J;cos[§]+ z',f; sin[g]
P

=

ﬁ"=tan"[

==

o
Fe |- )

IMSQRT(""1+1") = 1.098684+0.455091

IMSUB "X+yi* "X+yj"
IMSUB( 1, 2)
1 2
2 1
COMPLEX
1 2 xtyi v "X+yjt
2

(a+bi)-(c+di)=(a-)+(b-d)i

IMSUB(""13+4i","5+31") = 8+i

OCT2BIN 8 2
OCT2BIN( )

8
29
2 «C )
10 (10
7777777000
8 #NUM?
#VALUE!

#NUMI

10

0C )

#NUM!

(30

#NUMI

i

4



@)
OCT2BIN(3,3) = 011"
OCT2BIN(7777777000) = *1000000000"

OCT2DEC 8 10
OCT2DEC( )
8 10 (30 )
29 2
8 #NUMY
OCT2DEC(54) = 44
OCT2DEC(7777777533) = -165
OCT2HEX 8 16
OCT2HEX( )
8 10 (30 )
29 2
16 C )
oC )
10 16
8 #NUM?
ANUMY
#VALUE!
#NUMY

™
OCT2HEX(100, 4) = "0040"
OCT2HEX(7777777533) = "FFFFFFFF5B"

Future value (fv) -
Number of periods (nper) -

4



Payment (pmt) -
Present value (pv) -

Rate (rate) -
Type (type) -

CELL

COUNTBLANK

ERROR.TYPE

INFO

ISBLANK TRUE

ISERR #N/A TRUE
ISERROR TRUE
ISEVEN TRUE

ISLOGICAL TRUE

ISNA #N/A TRUE
ISNONTEXT TRUE
ISNUMBER TRUE

1S0DD TRUE

ISREF TRUE
ISTEXT TRUE

N

NA #N/A

PHONETIC

TYPE

CELL

CELL( : )

™

"address"

"col"

"color™ 1 0( )
"contents"

"filename" ( )

Q)

"format"

0"

"parentheses” 1 0
"prefix"
) (@)
@) ©)
)
™
5(



"protect”
"row
“type"”

"1" (Label
"width"

"format"

Excel

G/

0

0.00

#,##0

#,##0.00

#,##0; -#,##0
$#,##0_) ; ($#,##0)
#,#0;[  1-#,#40
$#,##0_) ;[ 1($#,##0)
#,##0.00; -#,##0.00
$#,##0.00_) ; ($#,##0.00)
#,##0.00;[ 1-#,##0.00
$#,##0.00_);[ 1($#,##0.00)
Y#  ##0;¥-#,#4#0

¥# ##H0; [ 1¥-#,##0
¥#,##0.00;¥-#,##0.00
¥#,##0.00;[ ]¥-#,##0.00
0%

0.00%

0.00E+00

# 2/? # 22/2?
ge.m.d

gggg™ "m"  d"
yyyy/m/d

yyyy™ Umtootdeo "
m/d/yy

d-mmm-yy
d-mmm

mmm-yy
yyyy/m/d hzmm
hzmm AM/PM
hzmm
h:mm:ss
h™  "mm
h™  "mm

SS

"format"

g
nEQ"
nEon
" gn
e
" g

",O_

woon

"o

"co™

"Co-

npom
"C2-
npo™
npon
ngom
g

npan
D"
np1®
nppn
npp®
nppn
D3
npo"
nppn
D"
Do
“pg
npg™
"D

"b" (Blank

"v'" (Value

CELL



CELL

™
CELL("'row™,A20) = 20
B12 yyyy"  Umtootdvo ™
CELL("'format"”,B12) = "D1"

CELL("'contents™) = " "

COUNTBLANK

COUNTBLANK( )

(G
A& | B [ ¢ [ D |

1

2 E

3 a7

4 4 34

a 4 1]

G

B3
IF(C3<30,"",C3) = "" ( )
COUNTBLANK(B2:C5) = 2
ERROR.TYPE  Excel ERROR.TYPE
ERROR.TYPE
ERROR. TYPE( )
ERROR.TYPE

#NULLY 1
#D1V/0! 2
#VALUE! 3
HREF! 4
#NAME? 5



#NUMI 6
#N/A 7
#N/A

Ratio #DIV/0! #DIV/0!
DivisionByZero
IF(ERROR.TYPE(Ratio)=2,DivisionByZero())

INFO

INFO( )

@)

"directory”

"memavail™ ( : )

"memused"’ ( : )
"numfile”

"origin" Lotus 1-2-3 3.X "$AT Al

"osversion”

"recalc" ¢ " " )

"release" Excel

"system" (Windows Excel "pcdos™ Macintosh Excel "mac™)
"totmem" ( : )

INFO("numFile™)

IS Excel 9
IS IS IS
TRUE FALSE ISBLANK
TRUE FALSE

1SBLANK( )
ISERR( )
ISERROR( )
I1SLOGICAL( )
ISNA( )
ISNONTEXT( )
1SNUMBER( )
ISREF( )
ISTEXT( )



ISBLANK
ISERR
ISERROR

ISLOGICAL
ISNA
ISNONTEXT

ISNUMBER

ISREF
ISTEXT

"1g"

TRUE
#N/A TRUE

(#N/A  #VALUE! #REF! #DIV/0!  #NUM! #NAME?

TRUE
TRUE

#NULL! )
#N/A ( ) TRUE
TRUE
( TRUE )
TRUE
TRUE
TRUE

19"
19 ISNUMBER(*'19'")

FALSE

ISLOGICAL(TRUE) = TRUE
ISLOGICAL(*'TRUE™) = FALSE
ISNUMBER(4) = TRUE

C1:C5 "Gold" “Regionl"™ #REF! $330.92 #N/A
ISBLANK(C1) = FALSE
ISERROR(C3) = TRUE
ISNA(C3) = FALSE
ISNA(C5) = TRUE
ISERR(C5) = FALSE
ISNUMBER(C4) = TRUE (330.92 )
ISREF(Regionl) = TRUE (Regionl )
ISTEXT(C2) = TRUE (Regionl )

Al:A4
Al:A4

AVERAGE (AL:A4)
#DIV/0!

IF(ISERROR(AVERAGE (A1:A4))," 1" AVERAGE(A1:A4))

NC )

Y]



Excel

TRUE 1
Excel

Al "7 B2 " " C3
N(Al) = 7
N(B2) = 0 ( B2
N(C3) =1 ( C3 TRUE )
NC'TTY = 0 (T )

N("4/17/93") = 0 ("4/17/93"

NA #N/A #N/A
#N/A
NAQ
0)
#N/A
PHONETIC

PHONETIC( )

C4 " " B7 "

PHONETIC(C4) = " "
PHONETIC(B7) = " "
PHONETIC(A5:B7) = " "

"TRUE"

NA

#N/A

NA

#N/A

5¢



TYPE

TYPE
TYPE( )
1
2
4
8
16
64
TYPE ARGUMENT INPUT
TYPE
AL v
TYPE(AL) = TYPE(" ™) =2

TYPE(ALE" ) = 2
TYPE(2+A1) = TYPE(#VALUE!) = 16
TYPE({1,2;3,4}) = 64

TRUE  FALSE
TRUE  FALSE
AND TRUE TRUE
FALSE FALSE
IF
NOT
OR TRUE TRUE
TRUE TRUE
AND TRUE TRUE
AND( 1, 2, ...)
1, 2, ... TRUE  FALSE
TRUE FALSE

#VALUE!

TRUE

TYPE

FALSI

FALSE FALSE

5¢



AND(TRUE, TRUE) = TRUE
AND(TRUE, FALSE) = FALSE
AND(2+2=4, 2+3=5) = TRUE

B1:B3 TRUE FALSE TRUE
AND(B1:B3) = FALSE
B4 1 100
AND(1<B4, B4<100) = TRUE
B4 1 100
B4 1 100
B4 50
IF(AND(1<B4,B4<100) ,B4," ") = 50
FALSE FALSE
FALSE( )
FALSE
IF TRUE ()
IF
1 1F( , ) )
TRUE ( ) FALSE ( )
TRUE () IF
TRUE (-1)
FALSE ( ) IF
FALSE (0)
7 IF
IF

FALSE

FALSE (

)

TRUE ( )

FALSE ( )



IF(A10=100,SUM(B5:B15),"")

925000

IF(B2>C2,"

IF(B3>C3,"

90 A
80 90
70 80
60 70
60 F

1F( >8

2

NOT

NOT

NOT (FALSE)
NOT(1+1=2)

OR

OR(

A0 100 TRUE
FALSE IF
1 3
1500000 500000 500000 c2:C4
IF
"UOKT) = "
","0K") = "OK"
" " A E
B
c
D
IF
9,"A", 1F( >79,"B", IF( >69,"C", 1F( >59,"D","F"))))
IF IF 3 IF
( > 89)  TRUE
IF
TRUE FALSE FALSE TRUE
( )
TRUE FALSE
TRUE FALSE
= TRUE
= FALSE
TRUE TRUE FALSE
11 2’ )

B5:B15
Q)

B2:B:
900000 900000

2 IF
"A" FALSE
FALSE TRUE
FALSE

5¢



1, 2, ... TRUE FALSE
TRUE FALSE
OR
Windows Excel Enter
return + return

OR(TRUE) = TRUE
OR(1+1=1,2+2=5) = FALSE
Al:A3
OR(A1:A3) = TRUE
EXACT

TRUE TRUE

TRUEQ)

MATCH

ADDRESS
AREAS
CHOOSE
COLUMN
COLUMNS
HLOOKUP
HYPERLINK

INDEX
INDIRECT
LOOKUP
MATCH
OFFSET
ROW

ROWS
TRANSPOSE
VLOOKUP

TRUE FALSE TRUE

#VALUE!

Cctrl + Shift + Enter

TRUE

VLOOKUP

30

Macintosh

TRUE

Excel

5¢



ADDRESS ( )
ADDRESS( , , , .

1/

2

3

4

Al R1C1
Al FALSE
@)

ADDRESS(2,3) = "$C$2"

ADDRESS(2,3,2) = "C$2"

ADDRESS(2,3,2,FALSE) = "R2C[3]"

ADDRESS(2,3,1,FALSE, "[Book1]Sheetl") = "[Book1]Sheet1!R2C3"
ADDRESS(2,3,1,FALSE,"EXCEL SHEET'™) = ""EXCEL SHEET"IR2C3"

AREAS

AREAS( )

AREAS(B2:D4) = 1
AREAS((B2:D4,E5,F6:19)) = 3

B1:D4 B2 E1:E10
AREAS( ) = 3

R1C1

ADDRESS

TRUE

)

6(



CHOOSE 1 CHOOSE

29 1
1 7 1 1 7
CHOOSE( .1, 2, .0)
129
129
1 1 2 2
1 #VALUE!
12 129
CHOOSE
CHOOSE 1
SUM(CHOOSE(2,A1:A10,B1:B10,C1:C10))
SUM(B1:B10)
B1:B10
CHOOSE B1:B10 SUM CHOOSE
B1:B10
@)
CHOOSE(2," 1 ™, 2 »» 3 - =2
SUM(AL:CHOOSE(3,A10,A20,A30)) = SUM(AL:A30)
A0 4
CHOOSE(A10," mom e . "y ="
A10-3 3
CHOOSE(A10-3,” 1 ™, 2 ™" 3 "-» =" 3 "
" " 10000
CHOOSE(2, , ) ) = 10,000

COLUMN



COLUMN(C )

COLUMN
COLUMN

COLUMN(A3) = 1
3
COLUMN(A3:C5) = {1,2,3}

COLUMN c5
COLUMN() = COLUMN(C5) = 3

COLUMNS

COLUMNS( )

COLUMNS(AL:C4) = 3
COLUMNS({1,2,3;4,5,6}) = 3
COLUMNS(INDEX(SELECTION() , , ,AreaNum))

HLOOKUP
HLOOKUP
HLOOKUP( , . .
TRUE
[ 1 I ]

List Database

VLOOKUP



2 2 1
#VALUE! #REF!
TRUE FALSE
#N/A
TRUE
#N/A
FALSE #N/A
Al:A4 " " 4 5 6 Bl:B4
" " 4 7 8 Cl:C4 " "9 10 11
HLOOKUP (" ",A1:C4,2,TRUE) = 4
HLOOKUP (" ",A1:C4,3,FALSE) = 7
HLOOKUP (** ",A1:C4,3,TRUE) = 7
HLOOKUP (" ",Al:C4,4,) = 11
@

HLOOKUP(3,{1,2,3;"a","b", "c";"d", "e","f"},2, TRUE) = "c"

HYPERLINK

HYPERLINK( , )

Excel
Word
Windows  Excel 9
UNC (Universal Naming Convention)
URL (Uniform Resource Locator)



(#VALUE! )

"www.business.com/report” "Budger
Report.xIs"

HYPERLINK("http://www.business.com/report/budget report.xlIs", "
)

"www .business.com/report” "Budger
Report.xIs" "Annual™ F10
D1
HYPERLINK("'[http://www._business.com/report/budget report.xls]AnnuallF10", D1)
"www.business.com/report” "Budger

Report.xIs" "First Quarter
" "DeptTotal”

HYPERLINK("[http://www._business.com/report/budget report.xIs]First Quarter!DeptTotal™, "
")

Word
"www . business.com" "Annual Report.doc”
"QrtlyProfits”
HYPERLINK("'[http://www._business.com/Annual Report.doc]QrtlyProfits”, "Quarterly Profit Report™)
Windows Excel 97 "FINANC" "Statements"
"lstqtr.xIs”
D5
HYPERL INK("" ¥¥F INANCE¥Statements¥lstqtr._xIs", D5)
Windows Excel 97 D "FINANCE" "1stqtr.xIs”
H10

HYPERLINK("D:¥FINANCE¥1stqtr.xIs", H10)

INDEX

INDEX

6¢



INDEX 1

INDEX( , s s

INDEX 2

INDEX( , )

INDEX 1

INDEX
INDEX

INDEX( ) )

)

(A1:B4,D1:E4,G1:H4)

1 Al:B4 2 D1:E4

INDEX

( ) INDEX

o )

#REF!

INDEX

CELL("width",B1)

3

CELL

INDEX
O
)
1
3 1
G1:H4
( ) 1
INDEX
CELL("width", INDEX(AL:B2,1,2))
INDEX

6!



2*INDEX(A1:B2,1,2)

A2:C6 " "
(A2:C6,A8:C11) " "

& B ©
1 =<1 {EER
I A ¥a7 40
a | i ¥45 a8
4 | L-E ¥77 15
5 | ALosd ¥35 25
6 | ¥l ¥a3 40
=
& | 7T—FF ¥392 10
9 | Dia—Fa ¥497 16
10 | E—gu ¥175 20
1| ThATFz 7+ ¥245 12

INDEX( ,2,3) = C3 (38

INDEX((A1:C6,A8:C11),2,2,2) = INDEX(A8:C11,2,2) =

SUM(INDEX(
SUM(B2: INDEX(

INDEX 2
INDEX
2
INDEX( ,
1
Windows

,0,3,1)) = SUM(C1:C6) = 158
,5,2)) SUM(B2:B6) = 340 (SUM

2
INDEX
, )
1
oC )
INDEX
Excel 97 Ctrl + Shift + Enter

B9

INDEX

INDEX
)
(497
)
INDEX
1
Macintosh

Excel 97

Bl
A8:C11
)
+ Enter

6t



(@)
NDEX({1,2:3,4},2,2) = 4

INDEX({1,2;3,4},0,2) = {2;4}

B5:B6 " oo "
INDEX(B5:C6,2,2) = "
INDEX(B5:C6,2,1) = " "
INDIRECT
INDIRECT
INDIRECT( ) )
R1C1
H#REF!
TRUE Al
FALSE R1C1
( )
INDIRECT HREF1
Al "B2" B2  1.333
INDIRECT($A$1) = 1.333
Al "C5" 5 45
INDIRECT($A$1) = 45
R1C1 R1C1
R2C2 1.333

C5:C6

"R2C2"

#REF!



INT(INDIRECT(R1C1,FALSE)) = 1

B3 " "

INDIRECT($B$3) = 10

INDIRECT('A10™)

LOOKUP 1 1
LOOKUP 1
LOOKUP
LOOKUP 2
LOOKUP
LOOKUP 1
LOOKUP
1 1
1 1
LOOKUP
1
LOOKUP( , .
1 1
TRUE
1 1

-2

A10

-1

1

LOOKUP

Z

LOOKUP

LOOKUP

LOOKUP

10

INDIRECT

FALSE

6¢



i

| HE 5
4.14234
419542
517234
577345
5.35957
71942

[ 5 [ P |0

LOOKUP(4.91,A2:A7,B2:B7) = " ™
LOOKUP(5.00,A2:A7,B2:B7) = " "
LOOKUP(7.66,A2:A7,B2:B7) o
LOOKUP(7.66E-14,A2:A7,B2:B7) = #N/A (

)
LOOKUP 2
LOOKUP
LOOKUP
LOOKUP
LOOKUP
LOOKUP
)
2
LOOKUP( ) )
LOOKUP HLOOKUP
VLOOKUP

7.66E-14
2
HLOOKUP
LOOKUP
VLOOKUP

#N/A

LOOKUP

A2:A7)

LOOKUP

)

#N/A

HLOOKUP

VLOOKUP

LOOKUP

(

6¢



HLOOKUP VLOOKUP

-2 -1 0 1 2

FALSE TRUE

LOOKUP(C",{"a","b","c","d";1,2,3,4}) = 3
LOOKUP("'bump™,{"a",1;"b",2;"c",3}) = 2

MATCH
/ MATCH
MATCH( , , )
-1 0 1

1
A ... Z ... ... ... FALSE TRUE

0

-1

Z ... A ... 210 -1 -2
1
MATCH
MATCH(C'b™, {""a","b","c"},0) = 2 ( {"a","b","c"}

MATCH

#N/A

LOOKUP
A .. Z ...
LOOKUP
2 -1012
TRUE FALSE
"b" 2 )
™ )
1

1



) Q)
& E =
1| dpim Fil. | HFEMTOHEE
2 | ¥538500000) $37.000.00 21.50%
3 | ¥5510,00000]) $35,000.00 21.67%
4 | ¥5£5500000) $39,000.00 21.54%
5 | ¥550000000) $40,000.00 21.99%
6 | ¥5.24500000] $41,000.00 22.14%
7 | ¥609000000) $42,000.00 22.25%
B | ¥5.23500000) $43000.00 2241%
c2:C8

MATCH(39000,B2:B8,1)
MATCH(38000,B2:B8,0)

3
2

MATCH(39000,B2:B8,-1) = #N/A

-1

¥6,301,126.33

OFFSET

OFFSET(

#VALUE!

#REF!

A2:A8

"&LOOKUP( ,

22.41%

—

B2:B8

1%

A2:C8
LOOKUP MATCH

"GMATCH(  , )&"



OFFSET

C2 C2

OFFSET(C3,2,3,1,1) = F5

OFFSET(C3:E5,-1,0,3,3) = C2:E4

OFFSET(C3:E5,0,-3,3,3) = #REF!

ROW

ROW(C )

ROW

ROW(A3) = 3

ROW(A3:B5) = {3;4;5}

ROW C5

ROW(Q) = ROW(C5) = 5

ROWS

ROWS(C )

ROWS(A1:C4) = 4
ROWS({1,2,3;4,5,6}) = 2

TRANSPOSE

ROW

F5

SUM(OFFSET(C2,1,2,3,1))
3 1

TRANSPOSE
TRANSPOSE
LINEST

OFFSE

7



y
LINEST
TRANSPOSE (L INEST( Y, X))
TRANSPOSE( )
1
Al:C1 1 2 3
A3 1 A 2 A5 3
TRANSPOSE ($A$1:$C$1) = {1;2;3}
VLOOKUP
VLOOKUP
VLOOKUP( , , .
TRUE
[ 1
#VALUE!
TRUE
TRUE

FALSE

TRANSPOSE

FALSE

#N/A

y

#N/A

A3:A5

HLOOKUP

List Database

#N/A

#REF!

FALSE



2 | E | G
1 || 5EFTOESOHENE
2 TE s mE
3 |(kgiebic 1) |(kgias)* 1EH05 [(C)
4 0.457 3.55 00
5 0.525 325 400
i3 lala 293 300
7 0875 25 250
g 0.748 257 200
9 0335 238 150
10 0944 217 100
1 1.09 195 0
12 129 11 i}
VLOOKUP(1, ,1,TRUE) = 0.946
VLOOKUP(L,  ,2) = 2.17
VLOOKUP(1,  ,3,TRUE) = 100

VLOOKUP(0.746,

VLOOKUP(0.1,
VLOOKUP(2,

ABS
ACOS
ACOSH
ASIN
ASINH
ATAN
ATANZ2
ATANH
CEILING
COMBIN
COS
COSH
COUNTIF
DEGREES
EVEN
EXP
FACT
FACTDOUBLE
FLOOR
GCD

INT

LCM

LN

LOG
LOG10

,3,FALSE) = 200
,2,TRUE) = #N/A (0.1
,2,TRUE) = 1.71

X=y

)

A4:C12

T



MDETERM

MINVERSE

MMULT 2
MOD

MROUND

MULT INOMIAL

0DD

PI

POWER

PRODUCT

QUOTIENT

RADIANS

RAND 0
RANDBETWEEN

ROMAN

ROUND

ROUNDDOWN

ROUNDUP

SERIESSUM

SIGN

SIN

SINH

SQRT

SQRTPI T
SUBTOTAL

SUM

SUMIF

SUMPRODUCT

SUMSQ

SUNMX2MY2 2
SUNMX2PY2
SUMXMY2 2
TAN

TANH

TRUNC

N

ABS

ABS( )

ABS(2)= 2
ABS(-2) = 2

Al -16
SQRT(ABS(AL)) = 4

ACOS

0(

Tt

7t



ACOS( )

-1 1
180/P1()
ACOS(-0.5) = 2.094395 (2mt /3 )
ACOS(-0.5)*180/P1() = 120 ( )
ACOSH ( ) 1
( )
ACOSH(COSH( ) =

ACOSH( )

1
ACOSH(1) = 0
ACOSH(10) = 2.993223
ASIN

-Tt /2 /2
ASIN( )
-1 1
180/P1()

ASIN(-0.5) = -0.5236 (-1t /6 )
ASIN(-0.5)*180/P1() = -30 ( )
ASINH ( )
( ) ASINH(SINH( )) =

ASINH( )
ASINH(-2.5) = -1.64723
ASINH(10) = 2.998223
ATAN

-Tt /2 /2

ATANC )



180/P1()

ATAN(L) = 0.785398 (Tt /4 )
ATAN(L)*180/P1() = 45 ( )

ATAN2 X-y
y -0

ATAN2(x Y )

X , X
y y
X X

ATAN2(a,b) = ATAN(b/a) ATAN2 a 0

X y 0 #DIV/0

180/P1()

ATAN2(1, 1) = 0.785398 (1t /4 )
ATAN2(-1, -1) = -2.35619 (-3mt /4 )

ATAN2(-1, -1)*180/PI() = -135 ( )

ATANH ( )
ATANH(TANH( ) =
ATANHC )
-1 1
ATANH(0.76159416) = 1 ( )
ATANH(-0.1) = -0.10034
CEILING 0

1 =CEILING(442,10)

CEILING( )

442

-

10



#VALUE!
#NUM!

CEILING(2.5, 1) = 3
CEILING(-2.5, -2) = -4
CEILING(-2.5, 2) = #NUM!
CEILING(1.5, 0.1) = 1.5
CEILING(0.234, 0.01) = 0.24

COMBIN

COMBIN( )

#NAME!

i _P.é.ﬁ* B nl
(kJ_ kLl k)

-
P e —
B -kl

8 2 1
COMBIN(S8, 2) = 28 ( )

COS

cos( )

#NUMI

COMBIN

PI1()/180

7¢



COS(1.047) = 0.500171
COS(60*P1()/180) = 0.5 (60 )
COSH (

COSH( )

gt +e7f

2

COSH(z) =

COSH(4) = 27.30823
COSH(EXP(1)) = 7.610125 (EXP(1)= e e

COUNTIF

COUNTIF( )

">32"  "Windows"

A3:A6 A3 " "o
COUNTIF(A3:A6," ") =2

B3:B6 B3
COUNTIF(B3:B6,">55") = 2
DEGREES

DEGREES( )

DEGREES(PI()) = 180

EVEN

EVEN( )

32 54 75 86

™



#VALUE!

EVEN(L.5) = 2
EVEN(3) = 4

EVEN(2) = 2

EVEN(-1) = -2

EXP e e

EXP( )

EXP LN

EXP(1) = 2.718282 ( e )
EXP(2) = e2 = 7.389056
EXP(LN(3)) = 3

FACT 1
FACT(C )
#NUM Y
FACT(L) = 1
FACT(1.9) = FACT(1) =1
FACT(0) = 1

FACT(-1) = #NUM!
FACT(5) = 1*2*3*4*5 = 120

FACTDOUBLE

FACTDOUBLE( )

#VALUE!
#NUMI

™

e = 2.71828182845904

8(



FACTDOUBLE(6) = 48
FACTDOUBLE(7) = 105
FLOOR

FLOOR( )

FLOOR(2.5, 1) = 2
FLOOR(-2.5, -2) = -2
FLOOR(-2.5, 2) = #NUM!
FLOOR(1.5, 0.1) = 1.5
FLOOR(0.234, 0.01) = 0.23

GCD
6o 1, 2, ...
11 2!!
1
1
6CD(5, 2) = 1
GCD(24, 36) = 12
GCD(7, 1) = 1
6CD(5, 0) = 5
INT

INTC )

#VALUE!
#NUM!

#VALUE!
#NUM!

29



INT(8.9) = 8
INT(-8.9) = -9

Al
A1-INT(AL)

LCM

Leme 1, 2, ...

LCM(5,2) = 10
LCM(24,36) = 72

LN

LNC )

LN EXP

LN(86) = 4.454347
LN(2.7182818) = 1
LN(EXP(3)) = 3
EXP(LN(4)) = 4

LOG

LG(  , )

LOG(10) = 1
L0G(8,2) = 3

L0G(86,2.7182818) = 4.454347

1
LCM
1 29
#VALUE!
#NUM!
e (2.71828182845904)
10

8:



LOG10 10 ( )

L0G10( )

10 ( )
LOG10(86) = 1.934498
L0G10(10) = 1

LOG10(1E5) = 5
L0G10(10"5) = 5

MDETERM
MDETERM( )
( )
Al:C3 {1,2,3;4,5,6;7,8,9}
#VALUE!
#VALUE!
MDETERM(A1:C3) =
A1*(B2*C3-B3*C2) + A2*(B3*C1-B1*C3) + A3*(B1*C2-B2*Cl)
MDETERM 16
0 1E-16
MDETERM({1,3,8,5;1,3,6,1;1,1,1,0;7,3,10,2}) = 88
MDETERM({3,6,1;1,1,0;3,10,2}) = 1
MDETERM({3,6;1,1}) = -3
MDETERM({1,3,8,5;1,3,6,1}) = #VALUE! (
MINVERSE
MINVERSE ( )
( )
A1:C3 {1,2,3;4,5,6;7,8,9}

#VALUE!

Al1:C3



#VALUE!

1 0
2 2 A1:B2
Al:B2
A B
d/(a*d-b*c) b/ (b*c-a*d)
2 c/(b*c-a*d) a/(a*d-b*c)
MINVERSE 16
#NUMI

MINVERSE({4,-1;2,0}) = {0,0.5;-1,2}
MINVERSE({1,2,1;3,4,-1;0,2,0}) = {0.25,0.25,-0.75;0,0,0.5;0.75,-0.25, -0.25}

INDEX
MMULT 2 1
MMULT ( 1, 2)
1 2 2
1 2
1 2
#VALUE!
1
#VALUE!
2 b c a

MMULT({1,3;7,2}.42,0:0,2}) = {2,6;14,4}

a b

c

d



MMULT({3,0;2,0},{2,0;0,2}) = {6,0;4,0}
MMULT({1,3,0;7,2,0;1,0,0},{2,0;0,2}) = #VALUE! ( 1 2

MOD

Moo( )

0 #DIV/0!

MOD INT

MOD(n, d)

n - d*INT(n/d)

MOD(3,2) = 1
MOD(-3,2) = 1
MOD(3,-2) = -1
MOD(-3,-2) = -1

MROUND

MROUND( )

MROUND(10,3) = 9
MROUND(-10,-3) = -9
MROUND(1.3,0.2) = 1.4
MROUND(5,-2) = #NUM!

MULTINOMIAL

MULTINOMIAL( 1, 2, ...)

1, 2 ... 29

#VALUE!
1 #NUMI



(a+h+o)l

MULTINOMIAL(a, b,c) = =
g Nl g |

MULTINOMIAL(2,3,4) = 1260
ODD

ooD( )

#VALUE!

0DD(1.5) =
0DD(3) = 3
0DD(2) = 3
0DD(-1) = -1
0DD(-2) = -3

Pl m 3.14159265358979

PIC)

PI()/2 = 1.57079...
SIN(PIQ)/2) = 1

PIO*C  "2)
POWER

POWER( )
POWER A

POWER(5,2) = 25
POWER(98.6,3.2) = 2401077
POWER(4,5/4) = 5.656854

15

572

8t



PRODUCT

PRODUCT( 1, 2, ...)

1, 2,...

A2:C2 5 15 30
PRODUCT(A2:C2) = 2250
PRODUCT(A2:C2,2) = 4500

QUOTIENT

QUOTIENT( )

QUOTIENT(5,2) = 2
QUOTIENT(4.5,3.1) = 1
QUOTIENT(-10,3) = -3

RADIANS

RADIANS( )

RADIANS(270) = 4.712389 (31 /2

RANDBETWEEN

RANDBETWEEN ( ) )

)

#VALUE!

30



ROMAN

ROMANC )
0

0/
1
2 1
3 2
4
TRUE
FALSE

#VALUE!

3999
@)

ROMAN(499,0) = "CDXCIX"
ROMAN(499,1) = "LDVLIV"
ROMAN(499,2) = "XDIX"
ROMAN(499,3) = "VDIV"
ROMAN(499,4) = "ID"
ROMAN(1993,0) = "MCMXCIII"

ROUND

ROUND( )

ROUND(2.15,1) = 2.2
ROUND(2.149,1) = 2.1
ROUND(-1.475,2) = -1.48

#VALUE!

8t



ROUND(21.5,-1) = 20
ROUNDDOWN

ROUNDDOWN( )

ROUNDDOWN ROUND

o )

ROUNDDOWN(3.2,0) = 3
ROUNDDOWN(76.9,0) = 76
ROUNDDOWN(3.14159,3) = 3.141
ROUNDDOWN(-3.14159,1) = -3.1
ROUNDDOWN(31415.92654,-2) = 31400

ROUNDUP

ROUNDUP( )

ROUNDUP ROUND

o )

ROUNDUP(3.2,0) = 4
ROUNDUP(76.9,0) = 77
ROUNDUP(3.14159,3) = 3.142
ROUNDUP(-3.14159,1) = -3.2
ROUNDUP(31415.92654, -2) = 31500

SERIESSUM

=ERIES(x,m,m,a) = a1x” +aleﬁ+m] +agx[m+2m]

+ +ﬂ,—x[ﬁ+[j_1]m]

8¢



SERIESSUM(X, n, m, )

X (n+m)

111
BT YT

Al =PI()/4

/4
SERIESSUM(A1,0,2,E1:E4) = 0.707103

SIGN

SIGN( )

SIGN(10) = 1
SIGN(4-4) = 0
SIGN(-0.00001) = -1
SIN

SINC )
P1()/180

SIN(PI()) = 1.23E-16 (Tt
SIN(PI()/2) = 1
SIN(30*P1()/180) = 0.5 (30

#VALUE!

E1:E4

(45

(FACT

A



SINH (

SINH( )
( )
ﬂNHuj=g;E?

SINH(1) = 1.175201194
SINH(-1) = -1.175201194

SINH

P(x < t) = 2.868 * SINH(0.0342 * t) (

1.03

2.868*SINH(0.0342*1.03) = 0.101049063

1,000 101 1.03
SQRT

SQRT( )
SQRT(16) = 4

SQRT(-16) = #NUM!
SQRT(ABS(-16)) = 4

SQRTPI ( *m)

SQRTPI( )

s

0 #NUM!

SQRTPI(1) = 1.772454
SQRTPI(2) = 2.506628

1.03

10

#NUM!

10



SUBTOTAL

SUBTOTAL( .

AVERAGE
COUNT
COUNTA
MAX

MIN
PRODUCT
STDEV
STDEVP
SUM

10 VAR

11 VARP

© 00 N O O & W N P

3-D

SUM

suM¢ 1, 2, ...

SUM(3,2) = 5
SUM("3",2,TRUE) = 6 (

SUM(AL,B1,2) = 2 (

A2:E2

||3||

5

15

#VALUE!

3 TRUE

Al "3

30 40 50

B1

(0 ]
SUBTOTAL

TRUE

9:



SUM(A2:C2) = 50
SUM(B2:E2,15) = 150

SUMIF

SUMIF( , , )

">32"  "Windows"

Al:A4 4 ¥100,000 ¥150,000 ¥200,000 ¥300,000 B1:B-

¥8,000 ¥9,000 ¥12,000 ¥15,000
SUMIF(AL1:A4,">120000",B1:B4) = ¥36,000

SUMPRODUCT
SUMPRODUCT ( 1, 2, 3, -..)
1, 2, 3,..-
0
2
(B*2 + 4*7 + 8%6 + 6*7 + 1*5 + 9*3 )

SUMPRODUCT({3,4;8,6;1,9},{2,7;6,7;5,3}) = 156

SUM(AL:B3*D1:E3)
SUMPRODUCT
A1:B3 2 SUM(A1:B372)

SUMSQ 2 ( )

SuMSQ( 1, 2, ...)

SUMSQ(3,4) = 25

30

30

#VALUE



SUMX2MY2 2

suMxamy2( 1, 2)

1 2 #N/A

SUMXZMYZ = > (x° - y7)

SUMX2MY2({2,3,9,1,8,7,5},{6,5,11,7,5,4,4}) = -55

SUMX2PY2 2
SUMX2PY2( 1, 2)
1
2
0
1 2 #N/A

SUMK2PY2= > (x° + %)

SUMX2PY2({2,3,9,1,8,7,5},{6.,5,11,7,5,4,4}) = 521

SUMXMY2 2 2
sumxMY2( 1, 2)
1
2

O



1 2 #N/A

SUMXMY2 = (x-y)°

Sumxmy2({2,3,9,1,8,7,5},{6,5,11,7,5,4,4}) = 79

TAN
TAN( )
P1()/18
TAN(0.785) = 0.999204
TAN(45*P1()/180) = 1
TANH ( )
TANHC )
SINH( z)
TANH(z) = ————22
(2)= CosHz)
TANH(-2) = -0.96403
TANH(O) = 0
TANH(0.5) = 0.462117
TRUNC
TRUNC( )
oC )
TRUNC INT TRUNC
INT INT
TRUNC
TRUNC(-4.3) = -4
INT(-4.3) = -5 (-5 )

ot



TRUNC(8.9) = 8
TRUNC(-8.9) = -8
TRUNC(P1Q) = 3

AVEDEV
AVERAGE
AVERAGEA
BETADIST
BETAINV
BINOMDIST
CHIDIST
CHIINV
CHITEST
CONFIDENCE
CORREL
COUNT
COUNTA
COVAR
CRITBINOM
DEVSQ
EXPONDIST
FDIST
FINV
FISHER
FISHERINV
FORECAST
FREQUENCY
FTEST
GAMMADIST
GAMMAINV
GAMMALN
GEOMEAN
GROWTH
HARMEAN
HYPGEOMDIST
INTERCEPT
KURT
LARGE
LINEST
LOGEST
LOGINV
LOGNORMDIST
MAX

MAXA

2

y (X)

ot



MEDIAN

MIN

MINA

MODE
NEGBINOMDIST
NORMDIST
NORMINV
NORMSDIST
NORMS INV
PEARSON
PERCENTILE
PERCENTRANK
PERMUT
POISSON
PROB
QUARTILE
RANK

RSQ

SKEW

SLOPE
SMALL
STANDARDIZE
STDEV
STDEVA
STDEVP
STDEVPA
STEYX
TDIST

TINV

TREND
TRIMMEAN
TTEST

VAR

VARA

VARP

VARPA
WE1BULL
ZTEST

AVEDEV

AVEDEV(

2
)

1,

30

AVEDEV



1 -
;zx—x

AVEDEV

AVEDEV(4, 5, 6, 7, 5, 4, 3) = 1.020408

AVERAGE ( )
AVERAGE( 1, 2, ...)
1, 2, ...
0
AVERAGE
D L 1 [ 1
A1:A5 mooo

AVERAGE(AL:A5) = 11
AVERAGE( ) = 11

AVERAGE(A1:A5, 5) = 10

AVERAGE(AL:A5) = SUM(A1:A5)/COUNT(AL:A5) = 11

C1:C3 " "
AVERAGE( ) = 10.5
AVERAGEA ( )
AVERAGEA( 1, 2,...)
1, 2,...
(G oC )
TRUE 1 FALSE

1 30
0
[ 1 (L 1-1
0
Al 10 7 9 27 2
c1 4 18 7
TRUE FALSI
1 30
oC )
AVERAGE
0C )

ot



(L 1-1 D I ]

Al:A5 oo Al 1079 2" "
AVERAGEA(AL:A5) = 5.6
AVERAGEA( ) = 5.6
AVERAGEA(A1:A5) = SUM(AL:A5)/COUNTA(A1:A5) = 5.6
Al:A4 Al 10 7 9 2 A5

AVERAGEA(AL:A5) = 7

BETADIST B B

BETADIST(X, o , B, A, B)

X A B
a
B
A X
B X
#VALUE!
a O B O #NUM!
X<A X>B A=8B #NUM!T
A B B A=0 B=1
BETADIST(2,8,10,1,3) = 0.685470581
BETAINV B = BETADIST(X,...) BETAINV(
o) =X B
BETAINV( ,a, B, A, B)
B

of



BETAINV

BETAINV(0.685470581,8,10,1,3) = 2

BINOMDIST
3
BINOMDIST( ,
1
<0
<0 > 1

#VALUE!
#NUM!
#NUMI
A=0 B=1
100
2
9’ )
TRUE BINOMDIST
FALSE
#VALUE!
H#NUM!
#NUM!

+ 3x10-
#N/A

10(



Bxm,p) = [jp”(l -p)
oo
M
Y
13 COMBING . FFLE T
—HHEFE WA, it TRENE T

Blxmp)= ibi}’;ﬂ,}j}

4=l

1 0.5
10 6
BINOMDIST(6,10,0.5,FALSE) = 0.205078
CHIDIST 2 x 2 X 2 X 2 X 2
CHIDIST(X, )
X
#VALUE!
X #NUM!
<1 1010 #NUM!I
CHIDIST CHIDIST = P(X>x) X=x2 )
CHIDIST(18.307,10) = 0.050001
CHIINV 2 X 2 = CHIDIST(x,...) CHIINV( .k
X X 2
CHIINV( )
X 2
#VALUE!
<0 > 1 #NUM!

10:



<1 1010
CHIINV

CHIINV(0.05,10) = 18.30703

CHITEST 2 (X 2)
X 2
CHITEST( , )
X 2 X 2
= p(X>x 2)

— (Af__EHJZ

Sl Sl I

A =] (
Eij =i ] (
r =
cC =
CHITEST X 2 df
& B ©
1 [#2%
2 a1k ENE
3| Eeh 5 35
4 |dhar 11 o5
5 |t 10 23
6
7 | ¥
g8 B =
9 |Erh 45.35 4765
10 [9sr 1756 15.44
11 [ F 16.09 16.91
X 2 16.16957

100

CHITEST

#NUM!

#N/A

X 2

CHITEST

df = (r-1)(c-1)

+ 3x10-7

#N/A

CHITES

10:



CHITEST(B3:C5,B9:C11) = 0.000308

CONFIDENCE

CONFIDENCE(at , , )

a 100 * (1-a )%
o = 0.05 95

#VALUE!
a O a 1 H#NUM!
, 0 #NUM!

<1 ANUMY
a =0.05 (1-a )% 95
1.96

I+

Ei1.96(vE;J

50 30
2.5 95%

30+195(35§}
VAT

CONFIDENCE(0.05,2.5,50) = 0.692951
30 £+ 0.692951
29.3 30.7

CORREL 2 2

CORREL( 1, 2)



2 #N/A
2 s ( ) 0 #DIV/0
Covl X ,7)
o = )
- .'_’7‘}.'I T o

-

1< g, <1

E il

iz

Cov(X Y= lZ[X; T, :I(-y:' - -f"'_cf)

Al

CORREL({3,2,4,5,6},{9,7,12,15,17}) = 0.997054

COUNT

COUNT( 1, 2, ...)

1, 2, ...
1 30

COUNT Null ( )

COUNTA

A
= s
1997/2/5

18

2224
TRUE
HO 00

= | L | B |

COUNT(AL:A7) = 3
COUNT(A4:AT) = 2
COUNT(AL:A7, 2) = 4

COUNTA

COUNTAC 1, 2, ...)
10



L. 1 30
COUNTA M

COUNT

A
FELE
1997/2/8

18
2224
TRLUE
#OlW 00

(| R

COUNTA(AL:A7) = 6
COUNTA(A4:A7) = 4
COUNTA(AL:A7, 2) = 7
COUNTA(AL:A7, " ™) =7

COVAR 2
2
COVAR( 1, 2)
1
2
0
) #N/A
) #DIV/0!

I

Covl X ¥ )= %Z(x; T :'(J’; - -"*"_e*)

#=1
COVAR({3, 2, 4, 5, 6}, {9, 7, 12, 15, 17}) = 5.2

CRITBINOM

CRITBINOM( , , o)

10¢



#VALUE!
<0 #NUM!

a <0 a >1 #NUM!I

CRITBINOM(6,0.5,0.75) = 4

DEVSQ
DEVSQ( 1, 2, ...)

1, 2,...

DEVEQ= > (x-%)

DEVSQ(4,5,8,7,11,4,3) = 48

EXPONDIST
EXPONDIST(X, A , )
X
A
FALSE
X A
X <0 #NUM!T
A O #NUMI

#NUM!
1
EXPONDIST
#VALUE!

30

TRUE

10¢



Flag A= A

Flx; Aj=1-¢*

EXPONDIST(0.2,10,TRUE) = 0.864665
EXPONDIST(0.2,10,FALSE) = 1.353353

FDIST F 2
FDIST(X, 1, 2)
X
1
2
#VALUE!
X <0 #NUM?
1 2
1<1 1 1010 #NUM?
2<1 2 1010 #NUM!
DIST FDIST=P(F<x) (F F )

FDIST(15.20675,6,4) = 0.01

FINV F = FDIST(x,...) FINV( ,..)=x
F 2 F
FINVC 1, 2)
F
1
2
#VALUE!
<0 > 1 #NUMI
1 2

10°



1<1 1 1010 #NUM!
2<1 2 1010 #NUMI

FINV F
F 0.05
FINV

FINV

FINV(0.01,6,4) = 15.20675

FISHER X
FISHER
FISHER(X)
X
X
X -1 x 1

FISHER(0.75) = 0.972955

FISHERINV
y = FISHER(X)

FISHERINV(Y)

y

22 =1
A=—
22 +1

FISHERINV(0.972955) = 0.75

FORECAST
y

FORECAST (X, Y,

100

#VALUE!
#NUMI

FISHERINV(y) = x

#VALUE!

X v)

ANOVA

+ 3x10-7

#N/A

10¢



X #VALUE!
Yy X
#N/A
X #D1V/0!
FORECAST a+bx

a=F-hX
ol

_ n2py —(2x)(Zy)
wEx? —(Zx)

FORECAST(30,{6,7,9,15,21},{20,28,31,38,40}) = 10.60725

FREQUENCY

FREQUENCY( ) )

©

FREQUENCY

79 8 78 85 83 81 95 88 97
A1:A9

C4:C6 70 79 89
D4:D7 0 70 71 79 80 89 90 100

4
FREQUENCY (A1:A9,C4:C6) = {0;2;5;2}

10¢



FTEST F F 1 2

FTEST 2
FTEST( 1, 2)
1
2
oC )
1 2 2 1

#DIV/0!

FTEST({6,7,9,15,21},{20,28,31,38,40}) = 0.648318

GAMMADIST
GAMMADIST(X, o , B , )
X
a
B B =1
TRUE
FALSE GAMMADIST
X o P #VALUE!
X <0 #NUMY
a 0 B 0 #NUM!
R
X, =sS—0— X ¢
S 1"(1?)
- BELH L TaWmImOATEISNE T,
5—16—.}.-'
f[x;av]l= Tle)
a =1
1
A==
Yo
n a =nf2 B =2 = TRUE

GAMMADIST

(1-CHIDIST(X))

11



GAMMADIST(10,9,2,FALSE) = 0.032639
GAMMADIST(10,9,2,TRUE) = 0.068094

GAMMAINV
GAMMAINV(  ,...) =X

GAMMAINV(  , a, B)

<0 > 1
a 0 B O
GAMMAINV
+ 3x10-7
#N/A

GAMMAINV(0.068094,9,2) = 10
GAMMALN G(X)

GAMMALN ()

X GAMMALN

x 0 #NUM!

i e
GAMMALN

GAVMRALALN = I.Nl[r(x)]

)

Iix)= J-e_uux_l du
a

GAMMALN(4) = 1.791759
EXP(GAMMALN(4)) = 6 = (4-1)!

GAMMADIST

#VALUE!

#NUM!

#VALUE!

GAMMALN(i )

#NUM!

100

(i-1)!

= GAMMADIST(X,...)

11:



GEOMEAN GEOMEAN

GEOMEAN( 1, 2, ...)

1, 2,... 30 G)

0C )
0 #NUM!

GM} = :U’H}"z.l"a---.ym

GEOMEAN(4,5,8,7,11,4,3) = 5.476987

GROWTH y X
X y GROWTH y
X

GROWTH( Y, X, X, )
y y y = b*m”x

y 1 X

y 1 X

y 0 GROWTH #NUM!
X X y = b*m”™x

X 1 1

y X
y 1 1

X y 1,2,3...
X  GROWTH y X

X X 1 ( 1 )

y 1 X X
y 1 X X
X
X y 1,2,3
b 1
TRUE
FALSE b 1 y = mX

11



G)
LOGEST 11 16 33,100
47,300 69,000 102,000 150,000 220,000 1
B8:B9 6 2
GROWTH( ,{11;12;13;14;15;16},{17;18}) = {320197;468536}
17 18 320197 468536
X X {1;2;3;4;5;6
GROWTH( ,»-{7:8},) = {320197;468536}
HARMEAN 1 ( )
HARMEAN( 1, 2, ...)
1, 2,... 30 G)
oC )
0 #NUMI

1 1 1
7, n2y,

HARMEAN(4,5,8,7,11,4,3) = 5.028376

118



HYPGEOMDIST HYPGEOMDIST
HYPGEOMDIST

2
HYPGEOMDIST( , . , )
#VALUE!
#NUMI
( - + )
#NUM!
#NUM!
#NUM!
#NUMI
X X
P{X =x)=kx;n, M N)=
N

X =
n =
M =
N =
20 20 8 12

4 1

HYPGEOMDIST(1,4,8,20) = 0.363261

11.



INTERCEPT X y

y
INTERCEPT
INTERCEPT( v, x)
y
X
0
y X
#N/A
a=¥ -hX

. BIREROEFIL. OHATRINE T

_ 2wy - (Zx)(Zy)
nax? - (Zx)

INTERCEPT({2,3,9,1,8},{6,5,11,7,5}) = 0.048387

KURT

KURT( 1, 2, ...)

11, 2,... 30

0 (

o

©)

#DIV/!

11!



KURT(3,4,5,2,3,4,5,6,4,7) = -0.1518

LARGE 1

LARGE( )

n
LARGE(  ,n)

LARGE({3,4,5,2,3,4,5,6,4,7},3) = 5
LARGE({3,4,5,2,3,4,5,6,4,7},7) = 4

LINEST
LINEST
y=mx+b y = mixl + m2x2 + ...
y X
y x m ¢!
{mn,mn-1,...,m1,b}
LINEST( Y, X,
y y
y
y
X X
X 1
y X
y 1
X y
b 0
TRUE

)
#NUM!
LARGE( ,1)
+b ( X
m
)
)
y=mx +b
y=mx +b
{1,2,3,...}

LARGE
LARGE

LINEST

#NUMI

11¢



FALSE b 0 y = mx m

TRUE
{mn,mn-1,...,ml,b;sen,sen-1,...,sel,seb;r2,sey;F,df;ssreg,ssresid}
FALSE m b
sel,se2,...,sen ml,m2,...,mn
seb b ( FALSE seb = #N/A
r2 y y 0
1
y ) 0
r2
sey y
F F F F
df F
LINEST F
ssreg
ssresid
4 [ B [ ¢ [ o [ E [ F |

1 Mg M- aoc ma my 4]

2 BB B[R 500 B D B SER

3 ] ey

4 F ds

S | =Ereq | SSresid

y
(m):
(m) 2 (x1,yl) (x2,y2)
y (b):
y (b) y y
y=mx+b m b y X
x 1 m vy
(m):

INDEX(LINEST( Y, x),1)

1

(b)

(y2 - y1)/(x2 - x1)

TREND

11



y d):
INDEX(LINEST( v, x),2)

LINEST
LINEST

/ LINEST

TREND( Y, X)

G)

1 y
LINEST({1,9,5,7},{0,4,2,3}) = {2,1}

2 1
6 3,100

9

SUM(LINEST(B2:B7)*{9,1}) = SUM({1000,2000}*{9,1}) = 11,000

SUM({m,b}*{x,1}) = mx + b
TREND

m b
Y, X)
y y
y
y y
)
G)
y
5,400 7,500 8,100
1

11¢



y ( )
x1 ( )
X2
x3
x4 ( )
(x1, x2, x3, x4) W
1,500 11
& E &} D E
=1 w2 w3 wd W
(eSS AP AM | AOMED | BEERO (AT LD
1 i FEr FE{iER CRFD
2 2310 2 2 20 ¥142,000
3 2333 2 2 12 ¥144,000
4 2,356 3 15 33 ¥151,000
5 2379 3 2 43 ¥150,000
& 2,402 2 3 53 ¥135,000
7 2425 4 2 23 ¥165,000
8 2443 2 15 99 ¥126,000
g 2471 2 2 34 ¥142.900
10 2494 3 3 23 ¥163,000
11 2517 4 4 ala] ¥165,000
12 2540 2 3 22 ¥145,000
LINEST(E2:E12,A2:D12,TRUE, TRUE)
A_[ B [ € [ b [ E
14 | -234.23715| 2553 21066 | 125297532 27 5413574 52317 3305
15 | 132680115 | 530 669152 | 400066535 | 5.42937404 12237 3616
16 | 099674799 970575463 ANiA N, #hLA,
17 | 459753674 Bl #hin N, #hLA,
18 |1732393319| 565213532 #NiA E #ILA,
y = ml*x1 + m2*x2 + m3*x3 + m4*x4 + b 14
y = 27.64*x1 + 12,530*x2 + 2,553*x3 - 234.24*x4 + 52,318
2,500 3 2 25
y = 27.64*2500 + 12530*3 + 2553*2 - 234.24*25 + 52318 = 158,258 ( )
TREND
4 F R-2
3 r2, 0.99675 ( A16 )
( ) F r.
11
F F
0.05 ( vl v2 ) vi=k=4 v2=n-(k+1)=11- (4 +1):
6 k n F 4.5
F 459.753674 ( Al7 ) 4.53 F

11¢



5 t
1 3
-234.24 ( ) 13.268 ( A15 )
t
t=m4d+ sed =-234.24 + 13.268 = -17.7
6 0.05 t 1.94
t 17.7 1.94
t
t
5.1
31.3
4.8
-17.7
1.94
LOGEST
LOGEST
y = b*m~x
y = (b*(m1™x1)*(m2~x2)* )
y X m X b y X
m (1 ) LOGEST {mn,mn-1,...,ml1,b}
LOGEST( Y, X, , )
y y y = b*m”x
y
y
X X y = b*m”x
X 1 y
X
y a 1 )
X y {1,2,3,...}

12(



TRUE b
FALSE b 1 y = m™X m
TRUE
{mn,mn-1,...,ml,b;sen,sen-1,...,sel,seb;r 2,sey;F,df;ssreg,ssresid
}
FALSE m b
LINEST
LINEST LOGEST
LOGEST
x 1 m y (b)
(m):
INDEX(LOGEST( Y, x),1)
y (b):
INDEX(LOGEST( Y, X),2)
y = b*mx y
GROWTH GROWTH
X (1)
&)
y y
33100 47300 69000 102000 150000 220000
1 " "
LOGEST( ,{11;12;13;14;15;16%},TRUE, TRUE)
D1:E5

LINEST
LINES

Exce

D1:E5

{1.46327563,495.30477;0.0026334,0.03583428;0.99980862,0.01101631;20896.8011,4;2.53601883,0.00048544}

12:



y = 495.3 * 1.4633X

7
GROWTH
( D2:E5) y
LOGEST LINEST
LOGEST
Iny=x1Inml+ ... +xnInmn+1Inb
sei seb
In mi In b
LOGINV X In(x)
p = LOGNORMDIST(X,...) LOGINV(p,...) = x
LOGINV( , )
In(x)
In(x)
#VALUE!
<=0 >= 1 #NUM!
<=0 #NUMI

LOGINV(0.039084,3.5,1.2) = 4.000014

LOGNORMDIST

LOGNORMDIST(X, , )

mi

GROWTH

12:



In (xX) (x

In (xX) (x

X 0 0

LOGNCRMDIST(x, «, )

LOGNORMDIST(4,3.5,1.2) =

MAX

MAX(C 1,

MAXA

Al:A5
MAX(AL:A5) = 27
MAX(AL:A5,30) = 30

MAXA
MAXA MINA
MAXAC 1,
1, 2,
TRUE

)
)
#VALUE!

#NUMI
- bﬂﬁR}JSDIST[EEEl:iﬁ]

o
0.039084
2, ...)

1 30
MAX o )

10 7 9 27 2

TRUE FALSE
MINA
2,...)
130
MAX
1 FALSE 0(
MAXA 0(C )

12¢



Al:A5 10 7 9 27 2

MAXA(A1:A5) = 27
MAXA(A1:A5,30) = 30

Al:A5 0 0.2 0.5 0.4 TRUE
MAXA(AL:A5) = 1

MEDIAN ( )

MEDIAN( 1, 2, ...)

1, 2,... 1 30

MEDIAN(1,2,3,4,5) = 3
MEDIAN(1,2,3,4,5,6) = 3.5 (3 4 )

MIN

MINA
MIN 0

AL:A5 10 7 9 27 2
MIN(AL:A5) = 2

MIN(A1:A5,0) = 0

MAX MIN MAX

12



MINA

MINA( 1, 2,...)
11 2, 1 30
TRUE 1
MINA
Al:A5 10 7 9 27 2
MINA(AL:A5) = 2

MINA(AL:A5, 0) = 0
Al:A5  FALSE 0.2 0.5 0.4 0.8

MINA(AL:A5) = 0O
MINA MAXA MAXA
MODE

MEDIAN

MODE( 1, 2, ...)

1, 2 ... 30
0
AVERAGE MEDIAN
MODE

MODE({5.6,4,4,3,2,4}) = 4

NEGBINOMDIST

BINOMDIST

TRUE FALSE
MIN
FALSE 0( )
oC )
( ) MODE
G)
#N/A
3
2

NEGBINOMDIST

12¢



10

0.3 NEGBINOMDIST
NEGBINOMDIST( ) , )
#VALUE!
<= 0 >= 1 #NUM!
( 4 -1) 0 ANUMY
x+r-1 »
nblix;r,p)=( 1 ]p’(l-p)

NEGBINOMDIST(10,5,0.25) = 0.055049

NORMDIST

NORMDIST(x, , , )

FALSE

0 #NUMI

10
TRUE
#VALUE!
(NORMSDIST

12¢



NORMDIST(42,40,1.5,TRUE) = 0.908789

NORMINV
NORMINV ( , , )
( )
#VALUE!
<0 > 1 #NUM!
0 #NUMI
=0 =1 (NORMSDIST )
NORMINV +
3x10-7 100
#N/A
NORMINV(0.908789,40,1.5) = 42
PEARSON r r -1.0 1.0 2
PEARSON( 1, 2)
1
2
oC )
1 2 #N/A

r

H(EXT) - (XYY
J[HZXE— (£X)¥][nzy?- (27?]

PEARSON({9,7,5,3,1},{10,6,1,5,3}) = 0.699379

12



POISSON

POISSON( : , )

TRUE

FALSE

#VALUE!
0 #NUM!
0 #NUM!E
POISSON

BAXEL - FALSE MBS
et A
x!
BAXEL-TRUE HiIBE

POISSON =

et X

X
CUMPOISSON = Z

=0 K

POISSON(2,5,FALSE) = 0.084224
POISSON(2,5,TRUE) = 0.124652

PROB X X

PROB(x , , , )

0 1 #NUM!
1 #NUM!

12¢



X #N/A

PROB({0,1,2,3},{0.2,0.3,0.1,0.4},2) = 0.1
PROB({0,1,2,3},{0.2,0.3,0.1,0.4},1,3) = 0.8

QUARTILE
QUARTILE
25%
QUARTILE( . )
0 4

QUARTILE
0
1 4 1 (25%)
2 (50%)
3 4 1 (75%)
4

8191
<0 > 4 #NUMI
0 2 4 QUARTILE MIN

MAX
QUARTILE({1,2,4,7,8,9,10,12},1) = 3.5
RANK

RANK( . )

« )
0 .32 1
0 1 2 3

#NUMI

MEDIAN

12¢



RANK
10 2 5 11

Al:A5 7 3.5 3.5 1 2
RANK(A2,A1:A5,1) = 3
RANK(AL,A1:A5,1) = 5

RSQ y X r2 PEARSON
r2 X y

RSQ( Y, X)

0C )
#N/A

) Ex)E)
Jn=xt (2 [nzr? - (Sr)]

RSQ({2,3,9,1,8,7,5}.{6,5,11,7,5,4,4}) = 0.05795

SKEW

SKEW( 1, 2, ...)

0C )
2 0( ) #DIV/O!

13(



SKEW(3,4,5,2,3,4,5,6,4,7) = 0.359543

SLOPE y X

SLOPE( Y, X)

0C )

B[S
Ay 2t (3 a)f

SLOPE({2,3,9,1,8,7,5},{6.,5,11,7,5,4,4}) = 0.305556

SMALL 1

SMALL( )

#NUM!

SMALL(  ,n)

SMALL({3,4.5,2,3,4,5,6,4,7},4) = 4
SMALL({1,4,8,3,7,12,54,8,23},2) = 3

STANDARDIZE

STANDARDIZE(X, ) )

SMALL(

SMALL

)

#NUM!

#N/A

13:



0 #NUMI

A= ra

T

¥ =

STANDARDIZE(42,40,1.5) = 1.333333

STDEV

STDEV( 1, 2, ...)

1, 2, ...

TRUE FALSE

STDEV

n-1
STDEV

alr-1)

\/me ()

10
1310 1370 1318 1350 1303 1299)
STDEV(A2:E3) = 27.46

TDIST t

TDIST(X, ) )

A2:E3

30

STDEVA

STDEVP

(1345 1301 1368 1322

13:



#VALUE!
<1 #NUMI
1 2 #NUM!
TDIST TDIST = p(x<X)
TDIST(1.96,60,2) = 0.054645
TINV t
TINV( , )
t
#VALUE!
<0 > 1 #NUM!
<1 #NUM!
TINV TINV = p(t<X)
TINV
3x10-7 100
#N/A
TINV(0.054645,60) = 1.959997
TREND y X
X y
TREND( Y, X, X, )
y y y =mx +b
y
y
X X y=mx +b
X 1
y X
y 1 1
X y {1,2,3,...}

I+

13¢



X  TREND y X

X X 1 ( )
y 1 X X
y 1 X X
X X
X X y {1,2,3,...}
b 0
TRUE b
FALSE b 0( ) y = mx m
LINEST
TREND
A y B X C X2 D X3
( ) B D ( ) A y
X (’) (1
1
B2:B13 y ¥1,338,900,000 ¥1,350,000,000 ¥1,357,900,000 ¥1,373,000,000

¥1,381,300,000 ¥1,391,000,000 ¥1,399,000,000 ¥1,411,200,000 ¥1,418,900,000 ¥1,432,300,000 ¥1,440,000,00
¥1,452,900,000

D2:D6 3 4 5 6 7

TREND(B2:B13,,{13;14;15;16;17}) = {1461715152;1471896970;1482078788;1492260606;1502442424}
8 15

X 12 {1;2;3;4;5;6;7;8;9;10;11;12}
{13;14;15;16;17} 5

TRIMMEAN
TRIMMEAN

TRIMMEAN( )

13



20
0.2 20x 0.2 = 4 2 2 4

<0 > 1 #NUM!

0.1 30x 0.1 =3

TRIMMEAN({4,5,6,7,2,3,4,5,1,2,3},0.2) = 3.777778

TTEST t TTEST 2
TTEST( 1, 2, ) )
1
2
1
2
t
1 t
2 t

3 2 t

1 2 1 EN/A

#VALUE!
1 2 ANUMY

TTEST({3,4,5,8,9,1,2,4,5},{6,19,3,2,14,4,5,17,1},2,1) = 0.196016

VAR

VAR( 1, 2, ...)

13t



VAR
TRUE FALSE
VAR

nzxé - (Zx)®
rir—1)

(1345 1301 1368 1322 1310 1370 1318 1350 1303 1299)

VAR(A2:E3) = 754.2667

VARA

VARA
TRUE

VARA

nIxd - (Zx)?
mla—1)

30

VAR

TRUE FALSE

FALSE

(1345 1301 1368 1322 1310 1370 1318 1350 1303 1299)

VARA(A2:E3) = 754.3

VARP
VARP( 1,
1, 2,
TRUE  FALSE

30

VARP

VARPA

0(

VARA

VARPA

13¢



VARP

VARP

ang —(Zx)

2

VAR

VARP(A2:E3) = 678.8

VARPA
VARPA( 1, 2,...)
11 2,--- 1
VARPA
TRUE 1
VARP
VARPA

HZ):E —(Zx)

VARA

VARPA(A2:E3) = 678.8

WEIBULL
WEIBULL(x, a , B , )
X
a
B

30

FALSE

TRUE

VAR
TRUE FALSE
VARA
0C )
VARPA

13



FALSE

x a P #VALUE!
X <0 #NUMY
a 0 B 0 #NUM?

Fix o, &) =1-gW8"

[ 3 o
f(x',n'.'}",_,{‘-?j = — xdz—-é‘—[}{fﬁ]
A2

WEIBULL(105,20,100,TRUE) = 0.929581
WEIBULL(105,20,100,FALSE) = 0.035589

ZTEST z P z

ZTEST( , X, 0)

#N/A
ZTEST

ZITEST (array, x) = I—NORL{SDIST[ 'ﬂ:_x ]
o

a2

ZTEST({3,6,7,8,6,5,4,2,1,9},4) = 0.090574

TODAY "dd-mmm-yy"
="Budget report as of "&TEXT(TODAY(),"dd-mmm-yy'™)

ASC
CHAR ASCI JIS
CLEAN

TEXT

13¢



CODE

ASCII

CONCATENATE 1

DOLLAR

EXACT
FIND
FIXED
JIS
LEFT
LEN
LOWER
MID

PROPER

REPLACE

REPT
RIGHT

SEARCH

SUBSTITUTE

T
TEXT
TRIM
UPPER
YEN

ASC

ASC("
ASC("

CHAR

ASC( )

™
= “EXCEL"
") = "RIC1"

~
I

ASCII JIS

CHARC )

1 255 8481 39038

#VALUE!

1 127 ASCII

128
253
256

255
8480 #VALUE!

JIS

CHAR

CHAR

13¢



CHAR(65) = "A"
CHAR(33) = "1"

CLEAN

CLEAN(

CHAR(7)

CLEAN(CHAR(7)&"

CODE

CODE(

Macintosh
Windows ANSI

CODE("A") = 65
CODE("

CONCATENATE

CLEAN

)

"&CHAR(7)) = "

ASCII JIS

)

Macintosh

") = 13377

CONCATENATE ( 1, 2,..)

1, 2,...

CONCATENATE

CONCATENATE("

C2

CONCATENATE("

DOLLAR

"

e ") =" "= " "

" C8 "15%"

CLEAN

14(



DOLLAR( )

DOLLAR

@)
DOLLAR(1234.567, 2) = "$1,234.57"
DOLLAR(1234.567, -2) = "$1,200"
DOLLAR(-1234.567, -2) = "($1,200)"
DOLLAR(-0.123, 4) = "($0.1230)"
DOLLAR(99.888) = "$99.89"

EXACT 2 TRUE
EXACT
EXACT( 1, 2)
1
2
EXACT("word","word") = TRUE
EXACT("Word","word") = FALSE
EXACT(" ") = FALSE
Windows Excel 97
Enter Macintosh Excel 97 return
TestValue CompareRange
{=OR(EXACT((TestValue, CompareRange))}
FIND/FINDB ( ) ( )
FIND 1 1
)
SEARCH/SEARCHB FIND/FINDB
FIND( , , )

Enter
+ return

FINDB

([

1-1 D
DOLLAR

FALSE
EXACT

Ctrl + Shift A

14:



")
1

#VALUE!
0 #VALUE!
#VALUE!

")
FIND("M","Miriam McGovern") = FINDB("M","Miriam McGovern")
FIND(II ll,ll ll) = 6

FlNDB(" "," ") — 11
FIND
B2
#124-TD45-87" " #12-671-6772" " #116010"
MID(A2,1,FIND(" #',A2,1)-1) =" "
MID(A3,1,FIND(" #',A3,1)-1) =" "
MID(A4,1,FIND(" #',A4,1)}-1) =" "
FIXED 0 0
FIXED( , , )
()
FALSE
Excel 15
2

FIXED

#) MID
Al
A2:A4

TRUE

127

14:



(")

FIXED(1234.567, 1) = "1234.6"

FIXED(1234.567, -1) = "1230

FIXED(-1234.567, -1) = "-1230"

FIXED(44.332) = "44.33"
JIS

JIS( )

JIS("EXCEL") ="
JIS("R1C1" =" "

LEFT/LEFTB
LEFT

)

LEFT( , )
LEFTB( , )

")
LEFT(" "4y ="
LEFTB(" "4)="
Al

LEFT(Al) = LEFTB(A1) = "J"

(")

"Japan”

LEFTB

FIXED

14:



".156"
LEFT(A2,LEN(A2)-1)*-1

LEN/LENB
LEN 1 1

)

LEN( )
LENB( )

LEN(" =7
LENB(" “) — 13
LEN("™) = LENB("") = 0 ("™ )

LOWER

LOWER( )

")
LOWER("Microsoft Excel") = "microsoft excel”
LOWER(" =" "
LOWER PROPER UPPER

MID/MIDB
MID 1 1

MID( , , )
MIDBY( , , )

")

Excel

A2

LENB

MIDB

)
LEN

"156-"

PROPER

14.



1 #VALUE!
#VALUE!
@)
MID(" "1,4)=" "
MIDB(" "14)=" "
MID("1234",5,5) = " ( )
CODE FIND
PROPER 2
PROPER( )
(")
@)
PROPER("this is a TITLE") = "This Is A Title"
PROPER("2-cent's worth") = "2-Cent'S Worth"
PROPER("EXCEL ") = "Excel "
REPLACE/REPLACEB
REPLACE 1 1 REPLACEB
( )
REPLACE( , , , )
REPLACEB( : : : )
( )
1
@)
9 4

14!



REPLACE(" "o an o

16 8
REPLACEB(" " 16,8," "= "

1992 2 93
REPLACE("1992",3,2,"93") = REPLACEB("1992",3,2,"93") = "1993"

A2
REPLACE(A2,1,2,"") = "* .
REPLACEB(A2,1,2,"*") = " .

RIGHT "ABCDEF"
REPLACE(RIGHT(A3,6),1,6,"*") = "*

REPT

REPT( , )

0(

")
REPT

")
REPT("*-",3) = "**x_"

A3 v
REPT($A$3,3.9) =" "

RIGHT/RIGHTB ( )
RIGHT( , )
RIGHTB( , )
( )
( )
0
1

32,000

14¢



(")
RIGHT(" "4)=" "
RIGHTB(" "4)=" "

RIGHT("Stock Number") = "r"

RIGHT/RIGHTB LEFT/LEFTB
SEARCH/SEARCHB
SEARCH/SEARCHB
MID REPLACE
SEARCH 1
( 1 2
SEARCH( , , )
SEARCHB( : , )
(?
()
3
o )
"AYF0093. Y )
SEARCH 8 (
SEARCH
)
SEARCH/SEARCHB
SEARCH/SEARCHB FIND/FINDB

#VALUE!
#VALUE!
#VALUE!

SEARCH("e","Statements",6) = SEARCHB("e","Statements",6) = 7

SEARCH(" " "2)=3

LEFT

SEARCHB 1

(*)

nyn

5 "y 13

SEARCH/SEARCHB

14



SEARCHB(" " "2)=5
B17 "margin”

SEARCH($B$17,$A$14) = 8

SEARCH REPLACE
REPLACE
REPLACE($A%$14,SEARCH($B$17,$A%14),6,"Amount")
REPLACE "Profit Amount”
SUBSTITUTE

REPLACE

SUBSTITUTE( ,

(")

SUBSTITUTE("Sales Data","Sales","Cost") = "Cost Data"

SUBSTITUTE("Quarter 1, 1991","1","2",1) = "Quarter 2, 1991"

SUBSTITUTE("Quarter 1, 1991","1","2",3) = "Quarter 1, 1992"
CellCont2 Separator

SUBSTITUTE(CellCont2,Separator,"] [")

")

Excel

(")

Al4

"Profit Margin"

14¢



Bl

T(B1) ="
B2 19
T(B2)=""
T("True") = "True"
T(TRUE) ="
TEXT
TEXT( , )
[ ] a« I-0 1
)
"G/
[ ] @« 1-0 D
TEXT
)

TEXT(2715,"¥#,##0") = "¥2,715"

TEXT("4/15/93","mmmm dd, yyyy") = "April 15, 1993"

*)

TRIM
TRIM
TRIM( )
")
TRIM(" First Quarter Earnings ") ="First Quarter Earnings"
UPPER
UPPER( )

@)
UPPER("total”) = "TOTAL"
E5  “yield"
UPPER(ES5) = "YIELD"

14¢



VALUE

VALUE( )

Excel

Excel
VALUE

VALUE("¥1,000") = 1000

VALUE("16:48:00")-VALUE("12:00:00") = "16:48:00"-"12:00:00" = 0.2 (4

YEN ¥
Windows Excel

Macintosh Excel

YEN( )

YEN

@)
YEN(1234.567,2) = "¥1,234.57"
YEN(1234.567,-2) = "¥1,200"
YEN(-1234.567, -2) = "¥-1,200"
YEN(-0.123,4) = "¥-0.1230"
YEN(99.888) = "¥100"

#VALUE!

(")

VALUE

48

([

1-1
YEN

D

15(



